—
INVACARE

Yes, you can’

Spare Parts Catalogue

Version: 2016/07/28b NO

KUSCHALL COMPACT,¢tract



Yes, you can’

General Information
For any order of spare parts the following information is required.

- Product type

- Product name & model
- Serial Number

- Part-Number

- Part-Description

Exploded view drawings and code numbers are not contractual and subject to
modification, in relation to Invacare® continous product improvement policy to meet
end users needs.

The reproduction or use of this work, or of any substantial part of this work, in any
form or by any electronic, mechanical or other means, including photocopying,
scanning and recording, and in any information storage and retrieval system,
including electronic transmission, is forbidden without the prior written permission of
Invacare® Intemational Sarl.



Yes, you can’

TABLE OF CONTENTS

(INFORMATION)
(INFORMATION) .ot e e e e e e e e e e 5
(Abbreviations) . . .. ... 6
(Frame COIOUIS) . . oottt et e e e e e e e e e e e e e e e e 7
(CHASSIS)
(CHAS SIS ) . e 8
(Front frames standard) ... ...... .. ...t 9
(Cross brace single, SB36-42) . . ... ... 12
(Cross brace double, SB44-50) .. ... ... 14
(ReAI framEs ) . . . oot 16
(Rear wheel fixation) . . ... . 17
(SEAT)
(SEAT ) oo 18
(Seat cover with 1 Velcro band (softband)) . .......... . 19
(Seat cover with 1 Velcro band (soft band) for seatbag) .............. ... .. . i . 21
(Seat cushion standard) .. ......... ... 23
(BACKREST)
(BACKRE ST ) ..ottt t ettt et et e e e e e e 25
(Push handles for backrest standard) . ............ .. i 26
(Push handles for backrest angle adjustable) . .. ... .. ... .. . 27
(Push handles for backrest foldable) . . .. ... ... .. . 28
(Push handles for backrest foldable and angle adjustable) .. ........... ... .. ... .. ... ... ... .. ..., 29
(Push handles height adjustable) . . .. ... 30
(Push handles height adjustable for backrest angle adjustable) ............. ... ... ... ... ... ... 31
(Kischall backrest parts for Matrx backs) . ... ... 32
(Push handles, inClined) ... ... ... o e 33
(Backrest stabilization bar) . . ... ... 34
(Back cover, standard) . ... ... 35
(Bands to adjustable backrest) . . .. ... ... 36
(Cover to adjustable backrest) ... ... 37
(LEGRESTS)
(LEGREST ) ..ottt t ettt e e e e e e e 38
(Legrest hanger) ... ... e e e 39
(FOOTREST)
(FOOTRE ST ) ..ottt t ettt ettt e e e e e e e e et e e e e e e e e e 40
(FOORreSt 2-PIECE) . ..ottt e e e 41
(Footrest 2-piece, angle adjustable) .. ......... . 43
(Footbands) . ... . 44
(SIDERESTS)
(SIDERE ST S) . ittt ettt ettt e e e e e 45
(Clothes-guards COMPOSIE) . ... .ottt e e e e e e e e e 46

(Clothes-guards Carbon) . . .. ... o e 47



Yes, you can’

TABLE OF CONTENTS

(MUudguards COMPOSIE) . . ..ottt ettt e e e e e e et e e e e e e e 48
(Mudguards Carbon) .. ... ... 49
(Mudguards composite removable) . . ... ... .. 50
(Mudguards carbon removable) . . .. ... .. 51
(Siderest height adjustable) . ......... . 52
(Siderest with desk function) ... ... ... .. 53
(Tubular armrest) . . ... e 54
(FRONT WHEELS)
(FRONT WHEELS) . ..ottt e e e e e e e e e e e 55
(Front Wheel SUPPOIET) . . . .ot e e e e e e e e e e e e e 56
(Front WheelS) . .. 57
(REAR WHEELS)
(REAR WHEELS) ...ttt et e e e e e e e e e e e e e e 58
(ACtiVe Wheel) .o 59
(24" Kischall rear wheels complete) .. ... .. i e 60
(High Performance wheel) . ... ... . 61
(Spinergy LXK Wheel) . . ..o 62
(Drumbrake Wheel) . ... ... 63
(Handrim) ... e 64
(Fixation handrim) . ... ... 65
L) TS 66
(Inner tube and rim protector) . . . ... ... o 67
(SPOKE QUAIA) . .ttt 68
(Quick release axle and bearing) . . . . ... .ot 69
(BRAKES)
(BRAKES) ..ttt ittt e e 70
(BraKes) .ottt e 71
(Drum brake) ... ... e 72

(OPTIONS & ACCESSORIES)

(OPTIONS & ACCESSORIES) ...\ttt e e e e e e e 73
QLI o] o= =T ) P 74
(AN PP . et 75
(Cane holder) . . ... 76
(Therapy table) .. ... 77
(Seat belt) . .. o 78
(Chair @CCESSOMES) . . o vttt et et e e e e e e e e 79
(FiXation: SCreWS, ...) . ..ottt e e e 80
(Socket head Cap SCrEWS) . .. ..ottt e e et e e e 81
(CoUNEEISUNK SCIEWS) . . . oottt e e e e e e e e e e e e e e e e e e e e 84
(BUtton head SCrEeWS) . .. ... i e e e e 86
(Hex-head screws, diVErSe, ...) . ... ..ttt e e e e 88
(
(
(



Kuschall® Compact attract | INFORMATION)

(INFORMATION)

(Abbreviations) 1
(Frame colours) 1

5/96 Version: 2016/07/28b NO



Kuschall® Compact attract | INFORMATION)

(Abbreviations)

Q . "

@ BB
& IR
% L+R

SHh

2]

UL

v
"1 sHp

L+R -
SB -
ST -
RH -
uL -

SHv -

SHh -

SHD -

(Left side (sitting in the wheelchair))

(Right side (sitting in the wheelchair))

(Left an right sides (paire))

(Seat width (2 digits in cm or 3 digits in mm))

(Seat depth (2 digits in cm or 3 digits in mm))

(Backrest height (2 digits in cm or 3 digits in mm))
(Knee-to-heel length (2 digits in cm or 3 digits in mm))
(Front seat-to-floor height (2 digits in cm or 3 digits in mm))
(Rear seat-to-floor height (2 digits in cm or 3 digits in mm))

(Front and rear seat-to-floor height difference (2 digits in cm or 3 digits in
mm))

Version: 2016/07/28b NO

6/96

O O OO O oo o oo



111

-0453

-0454

-0455

-0456

Kuschall® Compact attract | INFORMATION)
(Frame colours)

-0453
-0454
-0455
-0456

(Color code for attract blue frames)
(Color code for attract black frames)
(Color code for attract grey frames)
(Color code for attract red frames)

o O O o

7196

Version: 2016/07/28b NO



Kischall® Compact attract | (CHASSIS)

(CHASSIS)

1]

a H» ON -
1

(Front frames standard)

(Cross brace single, SB36-42)
(Cross brace double, SB44-50)
(Rear frames)

(Rear wheel fixation)

Version: 2016/07/28b NO

8/96

= A A A A



ST36|ST38|S5T40|S5T42 | ST44 | ST46 | ST48 | STS0

28(29|30|31(32

35

|
NE:

ac ’ o

Kischall® Compact attract | (CHASSIS)
(Front frames standard)

5136

’},Fé
@2
[y

5T42

ST44

ST46

5T48

5T50

10

12

13

14

15

16

=3

17

18

19

20

21

22

23

24

37

- 36

® 0O NNNNOOOODOOOUOOOADARARA®®WOWOWNNNDND S 2

SP1602872-0453
SP1602872-0454
SP1602872-0455
SP1602872-0456
SP1602873-0453
SP1602873-0454
SP1602873-0455
SP1602873-0456
SP1602942-0453
SP1602942-0454
SP1602942-0455
SP1602942-0456
SP1602964-0453
SP1602964-0454
SP1602964-0455
SP1602964-0456
SP1602965-0453
SP1602965-0454
SP1602965-0455
SP1602965-0456
SP1602966-0453
SP1602966-0454
SP1602966-0455
SP1602966-0456
SP1602993-0453
SP1602993-0454
SP1602993-0455
SP1602993-0456
SP1602994-0453
SP1602994-0454
SP1602994-0455

(Front frame ST36, attract blue, pair)
(Front frame ST36, attract black, pair)
(Front frame ST36, attract grey, pair)
(Front frame ST36, attract red, pair)
(Front frame ST38, attract blue, pair)
(Front frame ST38, attract black, pair)
(Front frame ST38, attract grey, pair)
(Front frame ST38, attract red, pair)
(Front frame ST40, attract blue, pair)
(Front frame ST40, attract black, pair)
(Front frame ST40, attract grey, pair)
(Front frame ST40, attract red, pair)
(Front frame ST42, attract blue, pair)
(Front frame ST42, attract black, pair)
(Front frame ST42, attract grey, pair)
(Front frame ST42, attract red, pair)
(Front frame ST44, attract blue, pair)
(Front frame ST44, attract black, pair)
(Front frame ST44, attract grey, pair)
(Front frame ST44, attract red, pair)
(Front frame ST46, attract blue, pair)
(Front frame ST46, attract black, pair)
(Front frame ST46, attract grey, pair)
(Front frame ST46, attract red, pair)
(Front frame ST48, attract blue, pair)
(Front frame ST48, attract black, pair)
(Front frame ST48, attract grey, pair)
(Front frame ST48, attract red, pair)
(Front frame ST50, attract blue, pair)
(Front frame ST50, attract black, pair)
(Front frame ST50, attract grey, pair)

G\ U G U (UK U U G QU U L UL U U UL GO U (P QU U U L UL QA U G QUL QO U G

0

9/96

Version: 2016/07/28b NO



Kischall® Compact attract | (CHASSIS)
(Front frames standard)

SP1602994-0456
SP1602995-0453
SP1602995-0454
SP1602995-0455
SP1602995-0456
SP1602996-0453
SP1602996-0454
SP1602996-0455
SP1602996-0456
SP1602997-0453
SP1602997-0454
SP1602997-0455
SP1602997-0456
SP1603008-0453
SP1603008-0454
SP1603008-0455
SP1603008-0456
SP1603009-0453
SP1603009-0454
SP1603009-0455
SP1603009-0456
SP1603010-0453
SP1603010-0454
SP1603010-0455
SP1603010-0456
SP1603011-0453
SP1603011-0454
SP1603011-0455
SP1603011-0456
SP1603012-0453
SP1603012-0454
SP1603012-0455
SP1603012-0456
SP1603013-0453
SP1603013-0454
SP1603013-0455
SP1603013-0456
SP1603014-0453
SP1603014-0454
SP1603014-0455
SP1603014-0456
SP1603015-0453
SP1603015-0454
SP1603015-0455
SP1603015-0456
SP1603016-0453
SP1603016-0454
SP1603016-0455
SP1603016-0456
SP1603017-0453
SP1603017-0454
SP1603017-0455
SP1603017-0456
SP1603018-0453
SP1603018-0454

(Front frame ST50, attract red, pair)
(Front frame left ST36, attract blue)
(Front frame left ST36, attract black)
(Front frame left ST36, attract grey)
(Front frame left ST36, attract red)
(Front frame left ST38, attract blue)
(Front frame left ST38, attract black)
(Front frame left ST38, attract grey)
(Front frame left ST38, attract red)
(Front frame left ST40, attract blue)
(Front frame left ST40, attract black)
(Front frame left ST40, attract grey)
(Front frame left ST40, attract red)
(Front frame left ST42, attract blue)
(Front frame left ST42, attract black)
(Front frame left ST42, attract grey)
(Front frame left ST42, attract red)
(Front frame left ST44, attract blue)
(Front frame left ST44, attract black)
(Front frame left ST44, attract grey)
(Front frame left ST44, attract red)
(Front frame left ST46, attract blue)
(Front frame left ST46, attract black)
(Front frame left ST46, attract grey)
(Front frame left ST46, attract red)
(Front frame left ST48, attract blue)
(Front frame left ST48, attract black)
(Front frame left ST48, attract grey)
(Front frame left ST48, attract red)
(Front frame left ST50, attract blue)
(Front frame left ST50, attract black)
(Front frame left ST50, attract grey)
(Front frame left ST50, attract red)
(Front frame right ST36, attract blue)
(Front frame right ST36, attract black)
(Front frame right ST36, attract grey)
(Front frame right ST36, attract red)
(Front frame right ST38, attract blue)
(Front frame right ST38, attract black)
(Front frame right ST38, attract grey)
(Front frame right ST38, attract red)
(Front frame right ST40, attract blue)
(Front frame right ST40, attract black)
(Front frame right ST40, attract grey)
(Front frame right ST40, attract red)
(Front frame right ST42, attract blue)
(Front frame right ST42, attract black)
(Front frame right ST42, attract grey)
(Front frame right ST42, attract red)
(Front frame right ST44, attract blue)
(Front frame right ST44, attract black)
(Front frame right ST44, attract grey)
(Front frame right ST44, attract red)
(Front frame right ST46, attract blue)
(Front frame right ST46, attract black)

Version: 2016/07/28b NO

10/96

R G U UL QUK G O U QU U O U U U U G U U U U U U U U OO O U QU O O U QA O U5 U UL O G U QU U U U U O P QU G (U UL G U U G



Kuschall® Compact attract | (CHASSIS)
(Front frames standard)

22
22
23
23
23
23
24
24
24
24
25
26
27
28
29
30
31
32
33
34
35
36
37

SP1603018-0455
SP1603018-0456
SP1603019-0453
SP1603019-0454
SP1603019-0455
SP1603019-0456
SP1603020-0453
SP1603020-0454
SP1603020-0455
SP1603020-0456
SP1603021
SP1603022
SP1603023
SP1603386
SP1603387
SP1603388
SP1603389
SP1603390
SP1603391
SP1603392
SP1603777
SP1603774
SP1603393

(Front frame right ST46, attract grey)
(Front frame right ST46, attract red)
(Front frame right ST48, attract blue)
(Front frame right ST48, attract black)
(Front frame right ST48, attract grey)
(Front frame right ST48, attract red)
(Front frame right ST50, attract blue)
(Front frame right ST50, attract black)
(Front frame right ST50, attract grey)
(Front frame right ST50, attract red)
(Frames connecting tubes kit, ST36)
(Frames connecting tubes kit, ST38)
(Frames connecting tubes kit, ST40)
(Frames connecting tubes kit, ST42)
(Frames connecting tubes kit, ST44)
(Frames connecting tubes kit, ST46)
(Frames connecting tubes kit, ST48)
(Frames connecting tubes kit, ST50)
(Screws kit to frames connecting tubes)
(Position mechanism for swing-away, kit, pair)
(Rotating limiter for swing-away, kit, pair)
(Seat lock kit, complete)

(Seat lock kit)

[\ U G U QUK U P G U U O QU QU QU UL G UL QI U U G G G

11/96

Version: 2016/07/28b NO



Kischall® Compact attract | (CHASSIS)
(Cross brace single, SB36-42)

]

SB36

5838|5840

5B42

SB36/40

SB38/42

33

ST38

ST44

13
17
21
25

2|3

6|7

10111
14|15
18|19
22|23
26|27
30|31

12
16
20
24
28
32

0 NO OO WN -

SP1603394-0454
SP1603402-0454
SP1603410-0454
SP1603512-0454
SP1603395-0454
SP1603403-0454
SP1603411-0454
SP1603545-0454
SP1603396-0454
SP1603404-0454
SP1603412-0454
SP1603554-0454
SP1603397-0454
SP1603405-0454
SP1603413-0454
SP1603555-0454
SP1603398-0454
SP1603406-0454
SP1603414-0454
SP1603556-0454
SP1603399-0454
SP1603407-0454
SP1603415-0454
SP1603557-0454
SP1603400-0454
SP1603408-0454
SP1603503-0454
SP1603401-0454
SP1603409-0454
SP1603504-0454
SP1603558-0454

(Cross-brace single, SB36 ST36, attract black)
(Cross-brace single, SB38 ST36, attract black)
(Cross-brace single, SB40 ST36, attract black)
(Cross-brace single, SB42 ST36, attract black)
(Cross-brace single, SB36 ST38, attract black)
(Cross-brace single, SB38 ST38, attract black)
(Cross-brace single, SB40 ST38, attract black)
(Cross-brace single, SB42 ST38, attract black)
(Cross-brace single, SB36 ST40, attract black)
(Cross-brace single, SB38 ST40, attract black)
(Cross-brace single, SB40 ST40, attract black)
(Cross-brace single, SB42 ST40, attract black)
(Cross-brace single, SB36 ST42, attract black)
(Cross-brace single, SB38 ST42, attract black)
(Cross-brace single, SB40 ST42, attract black)
(Cross-brace single, SB42 ST42, attract black)
(Cross-brace single, SB36 ST44, attract black)
(Cross-brace single, SB38 ST44, attract black)
(Cross-brace single, SB40 ST44, attract black)
(Cross-brace single, SB42 ST44, attract black)
(Cross-brace single, SB36 ST46, attract black)
(Cross-brace single, SB38 ST46, attract black)
(Cross-brace single, SB40 ST46, attract black)
(Cross-brace single, SB42 ST46, attract black)
(Cross-brace single, SB36 ST48, attract black)
(Cross-brace single, SB38 ST48, attract black)
(Cross-brace single, SB40 ST48, attract black)
(Cross-brace single, SB36 ST50, attract black)
(Cross-brace single, SB38 ST50, attract black)
(Cross-brace single, SB40 ST50, attract black)
(Cross-brace single, SB42 ST48, attract black)

Version

:2016/07/28b NO

12/96

.~ 4 a2 a2 a3 a2 A A A Aa A A A A A A A A A A A A A A A A A A A



Kuschall® Compact attract | (CHASSIS)

(Cross brace single, SB36-42)

32 SP1603559-0454 (Cross-brace single, SB42 ST50, attract black) 1
33 SP1603751 (Retaining lever SB36/40/44/48, pair) 1
34 SP1603752 (Retaining lever SB38/42/46/50, pair) 1
35 SP1603753 (Screw kit to Single crossbrace) 1
36 SP1603774 (Seat lock kit, complete) 1
37 SP1603393 (Seat lock kit) 1
38 SP1603765 (Cross-brace plug kit, plastic) 1
13/96 Version: 2016/07/28b NO



Kischall® Compact attract | (CHASSIS)
(Cross brace double, SB44-50)

T

5B44

SB46

SB48

SB50

5B44/48

SB46/50

33

11
15
19
23
27
31

12
16
20
24
28
32

0 NO OO WN -

SP1603560-0454
SP1603568-0454
SP1603625-0454
SP1603743-0454
SP1603561-0454
SP1603569-0454
SP1603626-0454
SP1603744-0454
SP1603562-0454
SP1603619-0454
SP1603627-0454
SP1603745-0454
SP1603563-0454
SP1603620-0454
SP1603628-0454
SP1603746-0454
SP1603564-0454
SP1603621-0454
SP1603629-0454
SP1603747-0454
SP1603565-0454
SP1603622-0454
SP1603740-0454
SP1603748-0454
SP1603566-0454
SP1603623-0454
SP1603741-0454
SP1603749-0454
SP1603567-0454
SP1603624-0454
SP1603742-0454

(Cross-brace triplex, SB44 ST36, attract black)
(Cross-brace triplex, SB46 ST36, attract black)
(Cross-brace triplex, SB48 ST36, attract black)
(Cross-brace triplex, SB50 ST36, attract black)
(Cross-brace triplex, SB44 ST38, attract black)
(Cross-brace triplex, SB46 ST38, attract black)
(Cross-brace triplex, SB48 ST38, attract black)
(Cross-brace triplex, SB50 ST38, attract black)
(Cross-brace triplex, SB44 ST40, attract black)
(Cross-brace triplex, SB46 ST40, attract black)
(Cross-brace triplex, SB48 ST40, attract black)
(Cross-brace triplex, SB50 ST40, attract black)
(Cross-brace triplex, SB44 ST42, attract black)
(Cross-brace triplex, SB46 ST42, attract black)
(Cross-brace triplex, SB48 ST42, attract black)
(Cross-brace triplex, SB50 ST42, attract black)
(Cross-brace triplex, SB44 ST44, attract black)
(Cross-brace triplex, SB46 ST44, attract black)
(Cross-brace triplex, SB48 ST44, attract black)
(Cross-brace triplex, SB50 ST44, attract black)
(Cross-brace triplex, SB44 ST46, attract black)
(Cross-brace triplex, SB46 ST46, attract black)
(Cross-brace triplex, SB48 ST46, attract black)
(Cross-brace triplex, SB50 ST46, attract black)
(Cross-brace triplex, SB44 ST48, attract black)
(Cross-brace triplex, SB46 ST48, attract black)
(Cross-brace triplex, SB48 ST48, attract black)
(Cross-brace triplex, SB50 ST48, attract black)
(Cross-brace triplex, SB44 ST50, attract black)
(Cross-brace triplex, SB46 ST50, attract black)
(Cross-brace triplex, SB48 ST50, attract black)

Version

:2016/07/28b NO

14/ 96

.~ 4 a2 a2 a3 a2 A A A A A A A A A A A A A A A A A A A A A A A A



Kuschall® Compact attract | (CHASSIS)

(Cross brace double, SB44-50)

32 SP1603750-0454 (Cross-brace triplex, SB50 ST50, attract black) 1
33 SP1603751 (Retaining lever SB36/40/44/48, pair) 1
34 SP1603752 (Retaining lever SB38/42/46/50, pair) 1
35 SP1603764 (Screw kit to triplex crossbrace) 1
36 SP1603774 (Seat lock kit, complete) 1
37 SP1603393 (Seat lock kit) 1
38 SP1603765 (Cross-brace plug kit, plastic) 1
15/96 Version: 2016/07/28b NO



Kischall® Compact attract | (CHASSIS)

(Rear frames)

SP1603769-0454

(Rear frame short to angle adjustable back, attract black, Pair)

| ¥UIT
1 d I (-‘i -
Y I ;
10
| %
]
.
sar) bl o \

- \..,{ @,} —11 .

ILLF 2

g |3 i

3 - S

12

1 SP1603766-0454 (Rear frame, attract black, Pair)
2 SP1603767-0454 (Rear frame left, attract black)
3 SP1603768-0454 (Rear frame right, attract black)
4 SP1606530-0454 (Rear frame medium to foldable back, attract black, Pair) 01.07.2016 —
5 SP1606531-0454 (Rear frame left medium to foldable attract black) 01.07.2016 —
6 SP1606532-0454 (Rear frame right medium to foldable attract black) 01.07.2016 —
7
8

SP1603770-0454
9 SP1603771-0454

10 SP1603774

11 SP1603393

12 1498774

(Rear frame left short to angle adjustable attract black, matt)
(Rear frame right short to angle adjustable attract black, matt)
(Seat lock kit, complete)

(Seat lock kit)

BAKRAMME BESKYTTELSE KUSCHALL

Version: 2016/07/28b NO

16/96

R A U U U UL U U U QUL G U



Kischall® Compact attract | (CHASSIS)
(Rear wheel fixation)

0 NO OO~ WN -

SP1603772
SP1603773
SP1589279
SP1603776
SP1589282
SP1589281
SP1603775
SP1589284

(Vertical brace, complete)

(Fixation kit for Vertical brace, pair)
(Adapter sleeve kit 2°, head short, pair)
(Adapter sleeve kit 1°, head long, pair)
(Adapter sleeve kit 4°, head short, pair)
(Adapter sleeve kit 4°, head long, pair)
(Spacer L=4mm for adapter sleeve, pair)
(Spacer L=7mm for adapter sleeve, pair)

[ G\ U G (UL U G

17196

Version: 2016/07/28b NO



Kuschall® Compact attract | (SEAT)

(SEAT)

- (Seat cover with 1 Velcro band (soft band))
(Seat cover with 1 Velcro band (soft band) for seat bag)
- (Seat cushion standard)

w N =
1

Version: 2016/07/28b NO 18 /96




Kuschall® Compact attract | (SEAT)
(Seat cover with 1 Velcro band (soft band))

SB38

SB40

5B42

SB44

SB46

SB48

SB50

10

11

12

13

14

15

16

18

19

20

21

22

23

24

26

27

28

29

30

31

32

34

35

36

37

38

39

40

42

43

44

45

46

47

48

50

51

52

53

54

55

56

58

59

60

61

62

63

64

ST36-50

Small

73

Large 74

© 00 NO O WON =

W W NDNDNDNDDNDNDNDMDNDNNNMNN=2 =2 O O A O a4 a
- O © 0O NO OB WN-=20©0o~NO”U B WN-=O0

1540208
1540209
1540210
1540211
1540212
1540213
1540214
1540215
1540220
1540221
1540222
1540223
1540224
1540225
1540226
1540227
1540232
1540233
1540234
1540235
1540236
1540237
1540238
1540239
1540244
1540245
1540246
1540247
1540248
1540249
1540250

(Seat cover SB36 ST36 with 1 Velcro band (soft band))
(Seat cover SB38 ST36 with 1 Velcro band (soft band))
(Seat cover SB40 ST36 with 1 Velcro band (soft band))
(Seat cover SB42 ST36 with 1 Velcro band (soft band))
(Seat cover SB44 ST36 with 1 Velcro band (soft band))
(Seat cover SB46 ST36 with 1 Velcro band (soft band))
(Seat cover SB48 ST36 with 1 Velcro band (soft band))
(Seat cover SB50 ST36 with 1 Velcro band (soft band))
(Seat cover SB36 ST38 with 1 Velcro band (soft band))
(Seat cover SB38 ST38 with 1 Velcro band (soft band))
(Seat cover SB40 ST38 with 1 Velcro band (soft band))
(Seat cover SB42 ST38 with 1 Velcro band (soft band))
(Seat cover SB44 ST38 with 1 Velcro band (soft band))
(Seat cover SB46 ST38 with 1 Velcro band (soft band))
(Seat cover SB48 ST38 with 1 Velcro band (soft band))
(Seat cover SB50 ST38 with 1 Velcro band (soft band))
(Seat cover SB36 ST40 with 1 Velcro band (soft band))
(Seat cover SB38 ST40 with 1 Velcro band (soft band))
(Seat cover SB40 ST40 with 1 Velcro band (soft band))
(Seat cover SB42 ST40 with 1 Velcro band (soft band))
(Seat cover SB44 ST40 with 1 Velcro band (soft band))
(Seat cover SB46 ST40 with 1 Velcro band (soft band))
(Seat cover SB48 ST40 with 1 Velcro band (soft band))
(Seat cover SB50 ST40 with 1 Velcro band (soft band))
(Seat cover SB36 ST42 with 1 Velcro band (soft band))
(Seat cover SB38 ST42 with 1 Velcro band (soft band))
(Seat cover SB40 ST42 with 1 Velcro band (soft band))
(Seat cover SB42 ST42 with 1 Velcro band (soft band))
(Seat cover SB44 ST42 with 1 Velcro band (soft band))
(Seat cover SB46 ST42 with 1 Velcro band (soft band))
(Seat cover SB48 ST42 with 1 Velcro band (soft band))

.~ 4 a2 a2 a3 a2 a2 A A A a A A A A A A A A A A A A A A A A A A A A

0

19/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (SEAT)
(Seat cover with 1 Velcro band (soft band))

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74

1540251
1540256
1540257
1540258
1540259
1540682
1540683
1540684
1540685
1540690
1540691
1540692
1540693
1540694
1540695
1540696
1540697
1540702
1540703
1540704
1540705
1540706
1540707
1540708
1540709
1540714
1540715
1540716
1540717
1540718
1540719
1540720
1540721
1564334
1564336
1564337
1564338
1564339
1564341
1564342
1564343
1547623
1547624

(Seat cover SB50 ST42 with 1 Velcro band (soft band))
(Seat cover SB36 ST44 with 1 Velcro band (soft band))
(Seat cover SB38 ST44 with 1 Velcro band (soft band))
(Seat cover SB40 ST44 with 1 Velcro band (soft band))
(Seat cover SB42 ST44 with 1 Velcro band (soft band))
(Seat cover SB44 ST44 with 1 Velcro band (soft band))
(Seat cover SB46 ST44 with 1 Velcro band (soft band))
(Seat cover SB48 ST44 with 1 Velcro band (soft band))
(Seat cover SB50 ST44 with 1 Velcro band (soft band))
(Seat cover SB36 ST46 with 1 Velcro band (soft band))
(Seat cover SB38 ST46 with 1 Velcro band (soft band))
(Seat cover SB40 ST46 with 1 Velcro band (soft band))
(Seat cover SB42 ST46 with 1 Velcro band (soft band))
(Seat cover SB44 ST46 with 1 Velcro band (soft band))
(Seat cover SB46 ST46 with 1 Velcro band (soft band))
(Seat cover SB48 ST46 with 1 Velcro band (soft band))
(Seat cover SB50 ST46 with 1 Velcro band (soft band))
(Seat cover SB36 ST48 with 1 Velcro band (soft band))
(Seat cover SB38 ST48 with 1 Velcro band (soft band))
(Seat cover SB40 ST48 with 1 Velcro band (soft band))
(Seat cover SB42 ST48 with 1 Velcro band (soft band))
(Seat cover SB44 ST48 with 1 Velcro band (soft band))
(Seat cover SB46 ST48 with 1 Velcro band (soft band))
(Seat cover SB48 ST48 with 1 Velcro band (soft band))
(Seat cover SB50 ST48 with 1 Velcro band (soft band))
(Seat cover SB36 ST50 with 1 Velcro band (soft band))
(Seat cover SB38 ST50 with 1 Velcro band (soft band))
(Seat cover SB40 ST50 with 1 Velcro band (soft band))
(Seat cover SB42 ST50 with 1 Velcro band (soft band))
(Seat cover SB44 ST50 with 1 Velcro band (soft band))
(Seat cover SB46 ST50 with 1 Velcro band (soft band))
(Seat cover SB48 ST50 with 1 Velcro band (soft band))
(Seat cover SB50 ST50 with 1 Velcro band (soft band))
(Seat cover bar kit ST36)

(Seat cover bar kit ST38)

(Seat cover bar kit ST40)

(Seat cover bar kit ST42)

(Seat cover bar kit ST44)

(Seat cover bar kit ST46)

(Seat cover bar kit ST48)

(Seat cover bar kit ST50)

(Seat upholstery bag, small)
(Seat upholstery bag, big)

Version: 2016/07/28b NO

20/96

-~ 4 2 4+ a4 a2 2 a3 a3 a2 a2 a2 O a A a a A A A A A A A A A A a A A A A A A A A A A A



Kuschall® Compact attract | (SEAT)
(Seat cover with 1 Velcro band (soft band) for seat bag)

ST36 | ST38 | ST40 | 5T42 | ST44 | 5T46 | ST48 STS{I|

65|66/67/68|6970|71(72]

SB36 | SB38 | SB40 | SB42 | SB44 | SB46 | 5848 | SBS0
sl 1234|5678
ss| 9 (10(11(12]13|14|15/|16
sta0| 1718 (19(20(21 |22 (23|24
st42|25(26(27(2829|30(31(32
st44| 33 (34| 35(36(37 (38|39 |40
stas| 41 |42 |43 |44 |45 |46 |47 | 48
st48| 49| 50|51 (52|53 |54 (55|56
stso| 57|58 (59 |60 | 61|62 |63 |64

SB36 | SB38 | SB40 | SB42 | SB44 | SB46 | SB48 | SBSO

73174|75(76|77|78|79/80

© 00 NO O WON =

W W NDNDNDNDDNDNDNDMDNDNNNMNN=2 =2 O O A O a4 a
- O © 0O NO OB WN-=20©0o~NO”U B WN-=O0

1576589 (Seat cover SB36 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576695 (Seat cover SB38 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576696 (Seat cover SB40 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576697 (Seat cover SB42 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576698 (Seat cover SB44 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576699 (Seat cover SB46 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576700 (Seat cover SB48 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576701 (Seat cover SB50 ST36 for seat bag with 1 Velcro band (soft band)) 1
1576706 (Seat cover SB36 ST38 for seat bag with 1 Velcro band (soft band)) 1
1576707 (Seat cover SB38 ST38 for seat bag with 1 Velcro band (soft band)) 1
1576708 (Seat cover SB40 ST38 for seat bag with 1 Velcro band (soft band)) 1
1576709 (Seat cover SB42 ST38 for seat bag with 1 Velcro band (soft band)) 1
1576710 (Seat cover SB44 ST38 for seat bag with 1 Velcro band (soft band)) 1
1577138 (Seat cover SB46 ST38 for seat bag with 1 Velcro band (soft band)) 1
1577139 (Seat cover SB48 ST38 for seat bag with 1 Velcro band (soft band)) 1
1577288 (Seat cover SB50 ST38 for seat bag with 1 Velcro band (soft band)) 1
1577992 (Seat cover SB36 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578183 (Seat cover SB38 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578184 (Seat cover SB40 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578185 (Seat cover SB42 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578186 (Seat cover SB44 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578187 (Seat cover SB46 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578188 (Seat cover SB48 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578189 (Seat cover SB50 ST40 for seat bag with 1 Velcro band (soft band)) 1
1578323 (Seat cover SB36 ST42 for seat bag with 1 Velcro band (soft band)) 1
1578324 (Seat cover SB38 ST42 for seat bag with 1 Velcro band (soft band)) 1
1578325 (Seat cover SB40 ST42 for seat bag with 1 Velcro band (soft band)) 1
1578400 (Seat cover SB42 ST42 for seat bag with 1 Velcro band (soft band)) 1
1578401 (Seat cover SB44 ST42 for seat bag with 1 Velcro band (soft band)) 1
1578423 (Seat cover SB46 ST42 for seat bag with 1 Velcro band (soft band)) 1
1578424 (Seat cover SB48 ST42 for seat bag with 1 Velcro band (soft band)) 1

0

21/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (SEAT)
(Seat cover with 1 Velcro band (soft band) for seat bag)

32 1578425 (Seat cover SB50 ST42 for seat bag with 1 Velcro band (soft band))
33 1578430 (Seat cover SB36 ST44 for seat bag with 1 Velcro band (soft band))
34 1578618 (Seat cover SB38 ST44 for seat bag with 1 Velcro band (soft band))
35 1578619 (Seat cover SB40 ST44 for seat bag with 1 Velcro band (soft band))
36 1578620 (Seat cover SB42 ST44 for seat bag with 1 Velcro band (soft band))
37 1578621 (Seat cover SB44 ST44 for seat bag with 1 Velcro band (soft band))
38 1578622 (Seat cover SB46 ST44 for seat bag with 1 Velcro band (soft band))
39 1578623 (Seat cover SB48 ST44 for seat bag with 1 Velcro band (soft band))
40 1578624 (Seat cover SB50 ST44 for seat bag with 1 Velcro band (soft band))
41 1578629 (Seat cover SB36 ST46 for seat bag with 1 Velcro band (soft band))
42 1578630 (Seat cover SB38 ST46 for seat bag with 1 Velcro band (soft band))
43 1578631 (Seat cover SB40 ST46 for seat bag with 1 Velcro band (soft band))
44 1578632 (Seat cover SB42 ST46 for seat bag with 1 Velcro band (soft band))
45 1578633 (Seat cover SB44 ST46 for seat bag with 1 Velcro band (soft band))
46 1578634 (Seat cover SB46 ST46 for seat bag with 1 Velcro band (soft band))
47 1578635 (Seat cover SB48 ST46 for seat bag with 1 Velcro band (soft band))
48 1578636 (Seat cover SB50 ST46 for seat bag with 1 Velcro band (soft band))
49 1578641 (Seat cover SB36 ST48 for seat bag with 1 Velcro band (soft band))
50 1578642 (Seat cover SB38 ST48 for seat bag with 1 Velcro band (soft band))
51 1578643 (Seat cover SB40 ST48 for seat bag with 1 Velcro band (soft band))
52 1578644 (Seat cover SB42 ST48 for seat bag with 1 Velcro band (soft band))
53 1578645 (Seat cover SB44 ST48 for seat bag with 1 Velcro band (soft band))
54 1578646 (Seat cover SB46 ST48 for seat bag with 1 Velcro band (soft band))
55 1578647 (Seat cover SB48 ST48 for seat bag with 1 Velcro band (soft band))
56 1578648 (Seat cover SB50 ST48 for seat bag with 1 Velcro band (soft band))
57 1578653 (Seat cover SB36 ST50 for seat bag with 1 Velcro band (soft band))
58 1578654 (Seat cover SB38 ST50 for seat bag with 1 Velcro band (soft band))
59 1578655 (Seat cover SB40 ST50 for seat bag with 1 Velcro band (soft band))
60 1578656 (Seat cover SB42 ST50 for seat bag with 1 Velcro band (soft band))
61 1578657 (Seat cover SB44 ST50 for seat bag with 1 Velcro band (soft band))
62 1578658 (Seat cover SB46 ST50 for seat bag with 1 Velcro band (soft band))
63 1578659 (Seat cover SB48 ST50 for seat bag with 1 Velcro band (soft band))
64 1578660 (Seat cover SB50 ST50 for seat bag with 1 Velcro band (soft band))
65 1564334 (Seat cover bar kit ST36)

66 1564336 (Seat cover bar kit ST38)

67 1564337 (Seat cover bar kit ST40)

68 1564338 (Seat cover bar kit ST42)

69 1564339 (Seat cover bar kit ST44)

70 1564341 (Seat cover bar kit ST46)

71 1564342 (Seat cover bar kit ST48)

72 1564343 (Seat cover bar kit ST50)

73 1578788 (Seat bag SB36)

74 1578789 VESKE FOR SETE SB38 KUSCHALL

75 1578790 (Seat bag SB40)

76 1578791 (Seat bag SB42)

77 1578792 (Seat bag SB44)

78 1578793 (Seat bag SB46)

79 1578794 (Seat bag SB48)

80 1578795 (Seat bag SB50)

IR UL U U A (UK O O U U O O U QUK O U QU U U U U U U U O O QU QA U U G UL (A I QUL U O U QU QU U U QU U U G G

Version: 2016/07/28b NO 22 /96



Kuschall® Compact attract | (SEAT)

(Seat cushion standard)

SB36

SB38

SB40 | SB42 | 5B44 | SB46 | SB4B | SBS0

10111 12|13 (14|15

10

16/17(18[19]20 |21

11

171221232425 | 26

12

18(2327(2829|30

5T82

13

19124128 |31(32 |33

ST48

14

20[25(29/32 /34|35

DN N W=

15

21]26[30/33/35]|36

0 NO OO WN -

1556335
1556336
1556337
1556338
1556339
1556340
1556341
1556342
1556344
1556345
1556346
1556347
1556348
1556349
1556350
1556352
1556353
1556354
1556355
1556356
1556357
1556359
1556360
1556361
1556362
1556363
1556365
1556366
1556367
1556368
1556370

SETEPUTE 36X36X5 KUSCHALL

PUTE SETE SB 36 SD38 KUSCHALL
SETEPUTE 360mm x 400mm KUSCHALL
(Seat cushion 360mm x 420mm)

(Seat cushion 360mm x 440mm)

(Seat cushion 360mm x 460mm)

(Seat cushion 360mm x 480mm)

(Seat cushion 360mm x 500mm)
SETEPUTE 380mm x 380mm KUSCHALL
SETEPUTE STD 380mm x 400mm
SETEPUTE 42/38/5 SORT KUSCHALL
(Seat cushion 380mm x 440mm)

(Seat cushion 380mm x 460mm)

(Seat cushion 380mm x 480mm)

(Seat cushion 380mm x 500mm)
SETEPUTE 40/40/5 SORT KUSCHALL
SETEPUTE 42/40/5 SORT KUSCHALL
SETEPUTE 40X44X5 SORT KUSCHALL
SETEPUTE 400mm x 460mm KUSCHALL
(Seat cushion 400mm x 480mm)
SETEPUTE 40X50 KUSCHALL
SETEPUTE 420mm x 420mm KUSCHALL
(Seat cushion 420mm x 440mm)
SETEPUTE 420mm x 460mm KUSCHALL
(Seat cushion 420mm x 480mm)

(Seat cushion 420mm x 500mm)
SETEPUTE 44/44/5 SORT KUSCHALL
SETEPUTE 46/44/5 SORT KUSCHALL
SETEPUTE 44/48/5 SORT KUSCHALL
(Seat cushion 440mm x 500mm)
SETEPUTE 46/46/5 SORT KUSCHALL

.~ 4 a2 a2 a3 a2 A A A Aa A A A A A A A A A A A A A A A A A A A A

23 /96

Version: 2016/07/28b NO



Kuschall® Compact attract | (SEAT)
(Seat cushion standard)

32
33
34
35
36

1556371
1556372
1556374
1556375
1556377

(Seat cushion 460mm x 480mm)
(Seat cushion 460mm x 500mm)
SETEPUTE 48/48/5 SORT KUSCHALL
(Seat cushion 480mm x 500mm)
(Seat cushion 500mm x 500mm)

Version: 2016/07/28b NO

24 /96

= A A



Kischall® Compact attract | (BACKREST)

(BACKREST)

=

N

(]

B

(]

B

[~

TTO T T T T

y I Kiischall for Matrx ~A 7

A A
- O © O NO O P~ ODN -

-
N

(Push handles for backrest standard)

(Push handles for backrest angle adjustable)

(Push handles for backrest foldable) 01.07.2016 —
(Push handles for backrest foldable and angle adjustable) 01.07.2016 —
(Push handles height adjustable)

(Push handles height adjustable for backrest angle adjustable)

(Kischall backrest parts for Matrx backs)

(Push handles, inclined)

(Backrest stabilization bar)

(Back cover, standard)

(Bands to adjustable backrest)

(Cover to adjustable backrest)

R A U UL G UL G I U QUL G U

25/96 Version: 2016/07/28b NO



Kuschall® Compact attract | (BACKREST)
(Push handles for backrest standard)

(O ]
Standard 22
08 A N
Standard 22 )
Mini 23 \% \_/‘\
.[\\‘\ Q.
4 Y . b
a»] | 25 A ﬂ}ﬂy b
Xl ! 21 b1a® :
=L Standard -m— Mini /7% L, Straight | Lumbar
_ = | (€4 [Straignt | Lumbar [ Straight | Lumbar L) E %E/ T | {
b r\.c|r|r 21 —_ka® ~_ | Rru33 | 17 | 19
| |RH33-39 L3157 Lt mm ! :V rHaos495| 18 | 20
T ||rmaosaes 2 | 4 | 6 | 8 '\L‘;;R‘I E b _
\ Sy ! o | Straight | Lumbar
e 3 \+g I {
‘\‘ @}+\F§} : éa
~. _ b ﬁ P RH33-39 13 | 15
~. 21 P 1{2® |
N é;f rRHa0s495| 14 | 16
-\‘ ~. : Drumbrake | Straight | Lumbar
_ . P &R [ | [
N S 7 RH33-39 9 |11
N ros495| 10 | 12
~L- 4349,
1 1540072 KJGREHANDTAK KORTE PAR KUSCHALL COMPAKT 1
2 1540073 KJOREHANDTAK MEDIUM PAR KUSCHALL COMPACT 1
3 1540074 KJOREHANDTAK STD LUMBAR KORT 1
4 1540075 (Push handles standard lumbar medium, pair) 1
5 1540076 KJOREHANDTAK MINI KORT PAR 1
6 1540077 (Push handles mini, medium, pair) 1
7 1540078 (Push handles mini lumbar short, pair) 1
8 1540079 (Push handles mini lumbar medium, pair) 1
9 1540084 KJOREHANDTAK LEDBREMS KUSCHALL KORT PAR 1
10 1540085 (Push handles medium to drum brake, pair) 1
11 1540086 (Push handles lumbar short to drum brake, pair) 1
12 1540087 (Push handles lumbar medium to drum brake, pair) 1
13 1540080 (Backrest tube straight short to foldable push handles, pair) 1
14 1540081 (Backrest tube straight medium to foldable push handles, pair) 1
15 1540082 (Backrest tube lumbar short to foldable push handles, pair) 1
16 1540083 (Backrest tube lumbar medium to foldable push handles, pair) 1
17 1540089 (Backrest tubes L without push handles, pair) 1
18 1540090 RYGGR@R U/KJGREHANDTAK MEDIUM LIFE KUSCHALL 1
19 1540091 (Backrest tubes lumbar L without push handles, pair) 1
20 1540092 (Backrest tubes lumbar XL without push handles, pair) 1
21 1540088 FESTE KJIGREHANDTAK LEDSAGERBREMS KUSCHALL 1
22 1507734 KJOREHANDTAK SVART PLAST PAR KUSCHALL 1
23 1525126 KJOREHANDTAK MINI SORT PLAST KUSCHALL 1
24 1507733 KJZREHANDTAK FOLDBARE KUSCHALL CO PAR 1
25 1432083 FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL 1

Version: 2016/07/28b NO

26 /96



Kuschall® Compact attract | (BACKREST)
(Push handles for backrest angle adjustable)

“\%

!.\"\
i -\‘\_ Standard %
a® Thg
ﬁ?’ |ﬂ}+{;} Q.
16 {
) + Mini
K‘IT.F‘ |
kyl\"%’f_/ 1|8 i
v ® |
& i
'Lh;_-'.? i
b1 i
- . 0 :
®— |
, - b RH33-435 | 2
g ‘“\,\ RH45-495 | 3

]

J2n]

RH33-42

13

RH43,5-49,5| 14

]

RH33-37,5

RH39-49,5

11
12

@1-\[;} Drumbrake

RH33-37,5

RH39-49,5

10

0

Standard

('/_

RH33-37,5

RH39-49,5

5
6

_a A
- O © 00 NO O P OWON -~

O G Y
© NO O~ WN

1540094
1540063
1540095
1540065
1540055
1540056
1540069
1540070
1540057
1540058
1540059
1540060
1540061
1540062
1507734
1525126
1507733
1432083

(A special rear frame is necessary. Please see chapter CHASSIS.)
RYGG VINKEL SETT

RYGGR®R VREG RYGG RH30-51

RYGGR@R VREG LANG SETT

(Screw kit for telescopic tube)

(Push handles standard, XS, pair)

(Push handles standard, S, pair)

(Push handles mini, XS, pair)

(Push handles mini, S, pair)

(Push handles XS to drum brake, pair)

(Push handles S to drum brake, pair)

(Backrest tube straight XS to foldable push handles, pair)
(Backrest tube straight S to foldable push handles, pair)
RYGGR@R RH30-37,5 UTEN KJOREHANDTAK KORTE
(Backrest tubes M without push handles, pair)
KJOREHANDTAK SVART PLAST PAR KUSCHALL
KJOREHANDTAK MINI SORT PLAST KUSCHALL
KJOREHANDTAK FOLDBARE KUSCHALL CO PAR
FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL

QG O G G G G G G O o )

27 /96

Version: 2016/07/28b NO



Kuschall® Compact attract | (BACKREST)
(Push handles for backrest foldable)

.
‘\'\\] t‘i‘}"'{;}
[ s | | 12
i Standard
M h 2®
| I
e | 'JN'S' Tl
m !
@i\'_‘)_/ & | && RH42-435 | 8 |
i RHas-49,5 | 9
| ,
| W+
—f— | RH45-49,5 7
“ | _
| ﬁ-}d-@ Drumbrake
i Rias495 | 6 |
® :\ ay  [Standard|  Mini
> . e - -
s Y ™~ =
<0 B RHas95 | 4 | 5
S
\H‘ .~
™~
a8 |
. f
~
- (A special rear frame is necessary. Please see chapter CHASSIS.) 0
1 SP1606525 (Hinge kit to backrest foldable, pair) 1
2 1509134 (Screw kit for telescopic tube) 1
3 1438209 RYGGR@R TELESKOPISK KIT 34,5 - 43,5 KUSCHALL CO 1
4 1507739 HANDTAK STD XS PAR 1
5 1525342 (Push handles mini, XS, pair) 1
6 1507743 (Push handles XS to drum brake, pair) 1
7 1507735 RYGGR@R RAK KIGREHANDTAK FOLDBARE XS KUSCHALL CO 1
8 SP1606526 (Backrest tube straight XXS for backrest foldable, pair) 1
9 SP1606527 (Backrest tube straight XS for backrest foldable, pair) 1
10 1432083 FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL 1
11 1525126 KJOREHANDTAK MINI SORT PLAST KUSCHALL 1
12 1507734 KJOREHANDTAK SVART PLAST PAR KUSCHALL 1
13 1507733 KJZREHANDTAK FOLDBARE KUSCHALL CO PAR 1

Version: 2016/07/28b NO

28 /96



Kuschall® Compact attract | (BACKREST)
(Push handles for backrest foldable and angle adjustable)

™~ (g
_\\1 Y 0.9
&®
B \ i le
i Standard
i - ©
m S
@H\&' i [ ) o
2 —J | s oy s
! 13 [rH4z-435 | 10
Mini }
! (RHes-495 | 11 |
W !
33— | e
| RHas49,5 | 9
@
! "I:l}-n-“\ra? Drumbrake
! Rias405 | 8
!
|
! W Standard| Mini
L\‘ '\574'\“:}}{ - -
. RHas-495 | O 7
T R \‘\
N («-) \‘\-
~
. |
s |
\\ "
~
- (A special rear frame is necessary. Please see chapter CHASSIS.) 0
1 1507749 LEDD TIL FELLBAR OG VREG RYGG PAR CO 1
2 1507748 KOBLINGSR@ZR FELLBAR OG VREG RYGG PAR CO 1
3 1540094 RYGG VINKEL SETT 1
4 1509135 SKRUE KIT TIL KOBLINGSR@R VREG OG FELL 1
5 1438209 RYGGR@R TELESKOPISK KIT 34,5 - 43,5 KUSCHALL CO 1
6 1507739 HANDTAK STD XS PAR 1
7 1525342 (Push handles mini, XS, pair) 1
8 1507743 (Push handles XS to drum brake, pair) 1
9 1507735 RYGGR@R RAK KJGREHANDTAK FOLDBARE XS KUSCHALL CO 1
10 SP1606526 (Backrest tube straight XXS for backrest foldable, pair) 1
11 SP1606527 (Backrest tube straight XS for backrest foldable, pair) 1
12 1432083 FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL 1
13 1525126 KJZREHANDTAK MINI SORT PLAST KUSCHALL 1
14 1507734 KJBREHANDTAK SVART PLAST PAR KUSCHALL 1
15 1507733 KJZREHANDTAK FOLDBARE KUSCHALL CO PAR 1

29/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (BACKREST)

(Push handles height adjustable)

8

WW’Q_ .
3.
r/ I
—/
3
2%
Va
- /
E-E

For straight
back tube

RH33-36
RH37,5-49,5

For lumbar
back tube

]

RH33-42

RH43,5-49,5

N =N =

dm oy
U

Straight

Lumbar

(

— RH33 - 39
RH40,5 - 48

RH49,5

3
3
4

5
6
6

1438203
1438204
1507753
1509103
1509117
1509122
1549985
1540071
1507747
1540088
1507734

- A
- O © 0O NO O P~ ODN -

KJGREHANDTAK INTERGRERT KORT 20CM KUSCHALL PAR
KJOREHANDT INTERGR.HOREG KUSPAR

RYGGRYR L 280MM KUSCHALL PAR FOR 1438204
RYGGR@R FOR INTEGR. KIGREH VREG RH 39 PAR
(Backrest tube L.280mm lumbar to integrated push handles, pair)
(Backrest tube L.355mm lumbar to integrated push handles, pair)
JUSTERING HREG PAR KJGREHANDTAK KUSCHALL .
(Screw kit for backrest tube)

TELESKOP RYGGR@R PAR KUS.PAR

FESTE KJGREHANDTAK LEDSAGERBREMS KUSCHALL
KJOREHANDTAK SVART PLAST PAR KUSCHALL

Version: 2016/07/28b NO

30/96

I UL U U G UL G UL U U G G



[~

L +“'T‘2-'
6.9 |

|
y +?
“%
& ]
<1]||®
& ®
il

)
18

NG 5%

Kuschall® Compact attract | (BACKREST)
(Push handles height adjustable for backrest angle adjustable)

N

(el
RH30-33
RH34,5-51

16
17

g

RH49,5

RH33
RH34,5
RH36
RH37,5
RH39
RH40,5
RH42
RH43,5
RH45
RH46,5

RH48

0 NO O WN -~

A A A A A A A A A
©® NO OO~ WON-~ OO

1540094
1540071
1549985
1507753
1507862
1508438
1508466
1508498
1509103
1509104
1509105
1509106
1509107
1509108
1509109
1438203
1438204
1507734

(A special rear frame is necessary. Please see chapter CHASSIS.)

RYGG VINKEL SETT

(Screw kit for backrest tube)
JUSTERING HREG PAR KJZREHANDTAK KUSCHALL .
RYGGR@R L 280MM KUSCHALL PAR FOR 1438204
RYGGR@R RAK 295MM FOR INT KJGRHANDT PAR

(Backrest tube L.310mm straight to integrated push handles, pair)
(Backrest tube L.325mm straight to integrated push handles, pair)
(Backrest tube L.340mm straight to integrated push handles, pair)
RYGGR@R FOR INTEGR. KIGREH VREG RH 39 PAR
RYGGR@R FOR INTEGR. KIGREH VREG RH 40,5 PAR
RYGGR@R FOR INTEGR. KIGREH VRG RYGGH 42 PAR
RYGGRYR FOR INTEGR. KIOREH VRG RYGGH 43,5PAR
(Backrest tube L.415mm straight to integrated push handles, pair)
RYGGR@R RH46,5 RETT FOR INTEGRERTE KJYREH PAR
(Backrest tube L.445mm straight to integrated push handles, pair)
KJOREHANDTAK INTERGRERT KORT 20CM KUSCHALL PAR
KJOREHANDT INTERGR.HOREG KUSPAR
KJOREHANDTAK SVART PLAST PAR KUSCHALL

QG T G G G G G G O o )

31/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (BACKREST)
(Ktschall backrest parts for Matrx backs)

0
4
e L~
\//’_3 1 L
X L T
A ’/ '
! 25
! T |
@*’@ ! i J 'CL, "
2 | & L4/
—L. i -5
ﬁ@] !
T |
! ] °
¥ /’
!l/'/-/’ f .;

1438203
1549985
1507734
1561018
SP1602179

a H» ON -

KJGREHANDTAK INTERGRERT KORT 20CM KUSCHALL PAR
JUSTERING HREG PAR KJZREHANDTAK KUSCHALL .
KJOREHANDTAK SVART PLAST PAR KUSCHALL
ENDEPLUGG RYGGRZR KUSCHALL @24MM

(Backrest bolt with fixation, pair)

Version: 2016/07/28b NO

32/96

R G U U G



Kuschall® Compact attract | (BACKREST)
(Push handles, inclined)

Straight | Lumbar
iyl
©8 17

RH33-39 5 7

RH40,5495 6 8

.
] i
\H‘\‘ 10 |
e
| Ll —f
i
i
|
i
| s
| 0l b
. | 9 s
) - 1
| @;/
|
. g
~.
\-.
\\

11

Wl

- A
- O © 0O NO O P ODN -

-
N

1517876
1438938
1438939
1438940
1540089
1540090
1540091
1540092
1540088
1432083
1529799
1581293

KJBREHANDTAK KOMPL PAR FESTE PA RYGGALLE
BAKENFORLIG KJZREH KPL UTEN FESTE KUSCHALL
FESTE BAKENFORLIG KJOREH HOYRE ALLE STOLER
FESTE BAKENFORLIG KJOREH VENSTRE ALLE STOLER
(Backrest tubes L without push handles, pair)

RYGGR@R U/KJZREHANDTAK MEDIUM LIFE KUSCHALL
(Backrest tubes lumbar L without push handles, pair)
(Backrest tubes lumbar XL without push handles, pair)
FESTE KJGREHANDTAK LEDSAGERBREMS KUSCHALL
FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL
PLASTHANDTAK FOR REG AV BEKENFORL KJZREHANDTAK
(Sleeves for mounting fixture, for rearset push handles, pair)

[ G G O U GG O RS

33/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (BACKREST)
(Backrest stabilization bar)

1 1517980
2 1517981
3 1517982
4 1517983
5 1517984
6 1517985
7 1517986
8 1517987
9 1518000
10 1518001
11 1518002
12 1518003
13 1518004
14 1518005
15 1518006
16 1518007
17 1518009
18 1518008

AVSTIVERBGYLE RYGG SB36 M/FESTE KUSCHALL

(Stabilizing bar complete SB38 for backrest tubes @20)
AVSTIVERBQYLE RYGG SB40T M/FESTE KUSCHALL COMPAKT
AVSTIVERBQYLE RYGG SB42T M/FESTE KUSCHALL COMPAKT
(Stabilizing bar complete SB44 for backrest tubes @20)
AVSTIVERBQYLE RYGG SB46T M/FESTE KUSCHALL COMPAKT
AVSTIVERBQYLE RYGG SB48 M/FESTE KUSCHALL
AVSTIVERBGYLE RYGG SB50 M/FESTE KUSCHALL

(Stabilizing bar SB36)

(Stabilizing bar SB38)

(Stabilizing bar SB40)

(Stabilizing bar SB42)

(Stabilizing bar SB44)

(Stabilizing bar SB46)

(Stabilizing bar SB48)

(Stabilizing bar SB50)

(Fixation kit to stabilizing bar, right, for backrest tubes @20)

(Fixation kit to stabilizing bar, left, for backrest tubes @20)

Version: 2016/07/28b NO

34 /96

G\ U UK G P G QU U O UL G (U U G G



Kuschall® Compact attract | (BACKREST)
(Back cover, standard)

58365838 [ 5B40| SB42[ 5844 ] SB46 | SB48 [ SE50
-11.{\??&1133-36 1/2|3/4|5|/6(7|8
I v pH37s43s| 9 [10111/12(13(14]15/16
i |ruasaos [17(18(19(20(21(22|23|24

0 NO OO~ WN -

1552084
1552085
1552086
1552087
1552088
1552089
1552090
1552091
1552096
1552097
1552098
1552099
1552100
1552101
1552102
1552103
1552108
1552109
1552110
1552111
1552112
1552113
1552114
1552115
1432083

(Backrest cover SB36 medium)
(Backrest cover SB38 medium)
(Backrest cover SB40 medium)
(Backrest cover SB42 medium)
(Backrest cover SB44 medium)
(Backrest cover SB46 medium)
(Backrest cover SB48 medium)
(Backrest cover SB50 medium)
(Backrest cover SB36 long)
(Backrest cover SB38 long)
(Backrest cover SB40 long)
(Backrest cover SB42 long)
(Backrest cover SB44 long)
(Backrest cover SB46 long)
(Backrest cover SB48 long)
(Backrest cover SB50 long)
(Backrest cover SB36 X-long)
(Backrest cover SB38 X-long)
(Backrest cover SB40 X-long)
(Backrest cover SB42 X-long)
(Backrest cover SB44 X-long)
(Backrest cover SB46 X-long)
(Backrest cover SB48 X-long)
(Backrest cover SB50 X-long)

FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL

-, A a A A A A A A A A A A A A A A A A A A A A A A

35/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (BACKREST)
(Bands to adjustable backrest)

1513172
1513173
1513170
1513171
1432083
1513167
1513168
1513169

0 NO OO WN -

VELCROBAND ENDESTYKKE 5 CM

VELCROBAND ENDESTYKKE 10 CM

VELCROREM 2-DELT 5 CM PAR

VELCROBAND TOPP 10 CM 2-DELT ALLE 2008->

FESTEKIT FOR RYGGBAND CHAMPION KUSCHALL
VELCROBAND JUSTERBART M 1 STROPP K4 2008-MOD
VELCROBAND JUSTERBART M 2 STROPP COMPACT-2004M
VELCROBAND JUSTERBART M 4 STROPP KUSCHALL

Version: 2016/07/28b NO

36 /96

[ G\ U G (UL U G



Kischall® Compact attract | (BACKREST)
(Cover to adjustable backrest)

Std. (black) SB36-38| SB40-42| SB44-46] SB48
RH33-36 1 2 | 3 4
RH37,5-42 5 6 7 8
RH43,5-49,5 9 (10 11| 12
AeroBack SB36-38| SB40-42[ SB44-46] SB4S |
RH33-36 13| 14 | 15| 16
RH37,5-42 17 118 | 19 | 20
RH43,5-49,5 21 | 22 | 23 | 24

0 NO OO WN -

1583109
1583110
1583111
1583112
1583113
1583114
1583115
1583116
1583117
1583118
1583119
1583120
1512157
1512158
1512159
1512160
1512162
1512163
1512164
1512165
1512167
1512168
1512169
1512170

(Cover black to adjustable backrest, SB36-38, short)
(Cover black to adjustable backrest, SB40-42, short)
(Cover black to adjustable backrest, SB44-46, short)
(Cover black to adjustable backrest, SB48-50, short)
(Cover black to adjustable backrest, SB36-38, medium)
(Cover black to adjustable backrest, SB40-42, medium)
(Cover black to adjustable backrest, SB44-46, medium)
(Cover black to adjustable backrest, SB48-50, medium)
(Cover black to adjustable backrest, SB36-38, long)
(Cover black to adjustable backrest, SB40-42, long)
(Cover black to adjustable backrest, SB44-46, long)
(Cover black to adjustable backrest, SB48-50, long)
(Cover 'Aero' to adjustable backrest, SB36-38, short)
RYGGTREKK SB40-42 KORT AEROBACK

(Cover 'Aero' to adjustable backrest, SB44-46, short)
(Cover 'Aero' to adjustable backrest, SB48-50, short)
RYGGTREKK SB36-38 MEDIUM AEROBACK KUSCHALL
RYGGTREKK SB40-42 MEDIUM AEROBACK KUSCHALL
RYGGTREKK SB44-46 MEDIUM AEROBACK KUSCHALL
RYGGTREKK SB48-50 MEDIUM AEROBACK KUSCHALL
RYGGTREKK AEROBACK SB36-38 LANG VELCRO RYGG
RYGGTREKK SB40-42 LANG AEROBACK CHAMPION-2008
RYGGTREKK SB44-46 LANG AEROBACK KUSCHALL
(Cover 'Aero' to adjustable backrest, SB48-50, long)

. A a2 a A A A A A A A A A A A A A A A A A A A

37 /96

Version: 2016/07/28b NO



Kuschall® Compact attract | (LEGRESTS)

(LEGRESTS)

1 - (Legrest hanger)

Version: 2016/07/28b NO 38/96



Kischall® Compact attract | (LEGRESTS)
(Legrest hanger)

A WODNDNMNDNMNN=22 -

SP1584369-0453
SP1584369-0454
SP1584369-0455
SP1584369-0456
SP1584370-0453
SP1584370-0454
SP1584370-0455
SP1584370-0456
SP1603392

SP1603777

(Swing Away 80°, attract blue, complete)
(Swing Away 80°, attract black, complete)
(Swing Away 80°, attract grey, complete)
(Swing Away 80°, attract red, complete)
(Swing Away 90°, attract blue, complete)
(Swing Away 90°, attract black, complete)
(Swing Away 90°, attract grey, complete)
(Swing Away 90°, attract red, complete)
(Position mechanism for swing-away, kit, pair)
(Rotating limiter for swing-away, kit, pair)

=2 =2 NDNDNMNDNMNNMNNDNNDNDNDDN

39/96

Version: 2016/07/28b NO



Kischall® Compact attract | (FOOTREST)

(FOOTREST)

- (Footrest 2-piece)
(Footrest 2-piece, angle adjustable)
- (Footbands)

w N =
1

Version: 2016/07/28b NO 40/96



Kischall® Compact attract | (FOOTREST)
(Footrest 2-piece)

5B44 |SB46 |SB48 |SBS0

10

16

20

21

25

26

30

0 NO OO WN -

SP1603867
SP1603868
SP1603869
SP1603884
SP1603885
SP1603886
SP1603887
SP1603888
SP1603889
SP1603890
SP1603891
SP1603892
SP1603893
SP1603894
SP1603895
SP1603908
SP1603909
SP1603910
SP1603911
SP1603912
SP1603913
SP1603914
SP1603915
SP1603940
SP1603941
SP1603942
SP1604002
SP1604003
SP1604004
SP1604005
SP1603907

(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.

155mm, for frame 70°, pair, complete)
175mm, for frame 70°, pair, complete)
195mm, for frame 70°, pair, complete)
215mm, for frame 70°, pair, complete)
235mm, for frame 70°, pair, complete)
155mm, for frame 70°, left, complete)
175mm, for frame 70°, left, complete)
195mm, for frame 70°, left, complete)
215mm, for frame 70°, left, complete)
235mm, for frame 70°, left, complete)
155mm, for frame 70°, right, complete)
175mm, for frame 70°, right, complete)
195mm, for frame 70°, right, complete)
215mm, for frame 70°, right, complete)
235mm, for frame 70°, right, complete)
155mm, for frame 90°, pair, complete)
175mm, for frame 90°, pair, complete)
195mm, for frame 90°, pair, complete)
215mm, for frame 90°, pair, complete)
235mm, for frame 90°, pair, complete)
155mm, for frame 90°, left, complete)
175mm, for frame 90°, left, complete)
195mm, for frame 90°, left, complete)
215mm, for frame 90°, left, complete)
235mm, for frame 90°, left, complete)
155mm, for frame 90°, right, complete)
175mm, for frame 90°, right, complete)
195mm, for frame 90°, right, complete)
215mm, for frame 90°, right, complete)
235mm, for frame 90°, right, complete)

(Telescopic tube kit for footrest 2-pc. for frame 70°, pair)

[\ U G UL (A U P G QU U U G U U UL G U P QU U U UL QU QA I G QUL QO U G

41/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (FOOTREST)
(Footrest 2-piece)

32
33
34
35
36
37
38

SP1604006
1579331
1579332
1579333
1579334
1579335
1582352

(Telescopic tube kit for footrest 2-pc. for frame 90°, pair)
(Footrest 2-pc. 155mm, pair)

(Footrest 2-pc. 175mm, pair)

(Footrest 2-pc. 195mm, pair)

(Footrest 2-pc. 215mm, pair)

(Footrest 2-pc. 235mm, pair)

(Fixation kit for telescopic tube on footrest 2-pcs., pair)

Version: 2016/07/28b NO

42/96

= A A A A A A



Kuschall® Compact attract | (FOOTREST)
(Footrest 2-piece, angle adjustable)

-~

-4\
)

!,

(o4

e

|9’

SB36| SB38-SB48 | SBS0

17, 16 |17

0 NO OO WN -

SP1603789
SP1603790
SP1603791
SP1603792
SP1603793
SP1603835
SP1603836
SP1603837
SP1603838
SP1603839
SP1603841
SP1603842
SP1603843
SP1603844
SP1603846
SP1603865
SP1603866

(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.
(Footrest 2-pc.

angle adjustable SB36, pair, complete)
angle adjustable SB38, pair, complete)
angle adjustable SB40, pair, complete)
angle adjustable SB42, pair, complete)
angle adjustable SB44, pair, complete)
angle adjustable SB46, pair, complete)
angle adjustable SB48, pair, complete)
angle adjustable SB50, pair, complete)
angle adjustable 114mm)
angle adjustable 144mm)
angle adjustable 154mm)
angle adjustable 169mm)
angle adjustable 179mm)
angle adjustable 184mm)

(Telescopic tube kit for footrest 2-pc. angle adjustable, pair)
(Lateral fixation, short, pair)
(Lateral fixation, long, pair)

A A AN MNMNNMNNMNMNAS A O 4 &4 A

43/96

Version: 2016/07/28b NO



Kischall® Compact attract | (FOOTREST)
(Footbands)

1 1437834 HALBAND PAR. M/SKRUER KUSCHALL LIFE
2 1536082 LEGGBAND SB40 COMPACT 09

Version: 2016/07/28b NO 44 /96



Kischall® Compact attract | (SIDERESTS)

(SIDERESTS)

1 | Composite
2 | Carbon

3 | Composite

4 | Carbon

°

Composite
Carbon

© 00 NO O WON =

(Clothes-guards composite)
(Clothes-guards carbon)
(Mudguards composite)
(Mudguards carbon)

(Mudguards composite removable)
(Mudguards carbon removable)
(Siderest height adjustable)
(Siderest with desk function)
(Tubular armrest)

[ (AL U U G UL (L U G

01.07.2016 —

45/96

Version: 2016/07/28b NO



Kischall® Compact attract | (SIDERESTS)
(Clothes-guards composite)

U

SP1604011
SP1604012
SP1604013
SP1604029
SP1604771

a H» ON -

(Clothes-guards composite S with fixation kit, pair)
(Clothes-guards composite L with fixation kit, pair)
(Clothes-guard composite S)

(Clothes-guard composite L)

(Fixation kit for clothes-guard and mudguard composite)

Version: 2016/07/28b NO

46 /96

OO N A



Kischall® Compact attract | (SIDERESTS)
(Clothes-guards carbon)

el
s |1
L2

1 SP1604880 (Clothes-guards carbon S with fixation kit, pair) 1
2 SP1604945 (Clothes-guards carbon L with fixation kit, pair) 1
3 1540003 KLESBESKYTTER LITEN 2
4 1540004 KLESBESKYTTER STOR 2
5 SP1604795 (Fixation kit for clothes-guard and mudguard carbon) 1

47196 Version: 2016/07/28b NO



Kischall® Compact attract | (SIDERESTS)
(Mudguards composite)

U

SP1604772
SP1604773
SP1604774
SP1604775
SP1604776
SP1604777
SP1604771

NOoO O WN -

(Mudguard composite S with fixation kit, pair)
(Mudguard composite L with fixation kit, pair)
(Mudguard composite S left)

(Mudguard composite S right)

(Mudguard composite L left)

(Mudguard composite L right)

(Fixation kit for clothes-guard and mudguard composite)

Version: 2016/07/28b NO

48 /96

IR G AL (U U QUL G



Kischall® Compact attract | (SIDERESTS)

(Mudguards carbon)

el
s |1
L2

NOoO b WN -

SP1604793
SP1604794
1529781
1529782
1529783
1529784
SP1604795

(Mudguard carbon S with fixation kit, pair)
(Mudguard carbon L with fixation kit, pair)
HJULSKJERM FAST KARBON S HORT VE UL CO
HJULSKJERM FAST KARBON S HORT H@ UL CO
(Mudguard Carbon L long left)

(Mudguard Carbon L long right)

(Fixation kit for clothes-guard and mudguard carbon)

JEEE G (AL (U U QUL G

49/96

Version: 2016/07/28b NO



Kischall® Compact attract | (SIDERESTS)
(Mudguards composite removable)

1 SP1604952
2 SP1604953
3 SP1604954
4 SP1604955
5 SP1604956
6 SP1604957
7 SP1604969
8 SP1604970
9 SP1604971
10 SP1604972
11 SP1604959
12 SP1604960
13 SP1604961
14  SP1604962
15 SP1604963
16 1547537
17 SP1604958

(Mudguard composite M long complete, pair)
(Mudguard composite left M long complete)
(Mudguard composite right M long complete)
(Mudguard composite L long complete, pair)
(Mudguard composite left L long complete)
(Mudguard composite right L long complete)
(Mudguard composite left M, holder long)
(Mudguard composite right M, holder long)
(Mudguard composite left L, holder long)
(Mudguard composite right L, holder long)
(Mudguard composite M left)

(Mudguard composite M right)

(Mudguard composite L left)

(Mudguard composite L right)

(Mudguard removable holder long, pair)
(Siderests height clamp kit, pair)

(Sidepart Adaption complete)

Version: 2016/07/28b NO

50/ 96

N = - 4 44 2 4 2 2 A a2 A A A A A A



Kischall® Compact attract | (SIDERESTS)
(Mudguards carbon removable)

iy

¥

O NG

10

2

o W |z

NN
0
]
@74-@ U @-&{%}
16 15
o
| ~
v e:? -
| -
| /'/’
| /’/’
==

N

© 00 NO O WON =

A A A A A A A
No g~ wWwN = O

SP1604946
SP1604947
SP1604948
SP1604949
SP1604950
SP1604951
SP1604965
SP1604966
SP1604967
SP1604968
1510275

1510276

1510277

1510278

SP1604963
1547537

SP1604958

(Mudguard carbon M long complete, pair)
(Mudguard carbon left M long complete)
(Mudguard carbon right M long complete)
(Mudguard carbon L long complete, pair)
(Mudguard carbon left L long complete)

(Mudguard carbon right L long complete)
(Mudguard carbon left M, holder long)

(Mudguard carbon right M, holder long)

(Mudguard carbon left L, holder long)

(Mudguard carbon right L, holder long)
HJULSKJERM KARBON H@ MEDIUM KUSCHALL
HJULSKJERM KARBON VE MEDIUM KUSCHALL
HJULSKJERM KARBON VE LARGE KUSCHALL
HJULSKJERM KARBON H@ LARGE KUSCHALL
(Mudguard removable holder long, pair)

(Siderests height clamp kit, pair)

(Sidepart Adaption complete)

N = . 4 44 & a2 2 3 a4 a2 A A A A A

51/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (SIDERESTS)
(Siderest height adjustable)

Short
_(2?0;m] 7

Long
(370mm)

Short
(270mm)
Long
(370mm)

1517682
1517678
1517677
1517683
1517680
1517679
1439497
1439498
1547537
1517689
1517690
1517691
1517692
1517693
SP1604958

© 00 NO O WON =

_ A A A A A
a b~ WON-=O

ARMLENE REG KORT PAR
ARMLEN KORT HREG VE CO UL

ARMLEN KORT HREG HZ CO UL 1.4.8->
ARMLEN LONG HREG PAR

ARMLEN HREG VE LANGT POLSTER CO UL FU 1.4.8->
ARMLEN HREG HJ LANGT POLSTER CO UL FU 1.4.8->
ARMLENSPOLSTER KORT 27 C CO UL 2004 -> PAR
ARMLENSPOLSTER LANG CO UL 2004-> PAR 36CM.
(Siderests height clamp kit, pair)

KLESBESKYTTER S VE FOR ARMLEN CO UL 2008->
KLESBESKYTTER S HZ FOR ARMLEN CO UL 2008->
KLESBESKYTTER L VE FOR ARMLEN CO UL 2008->
KLESBESKYTTER L HZ FOR ARMLEN CO UL 2008->
FESTE KLESBESKYTTER FOR ARMLEN CO UL 2008->
(Sidepart Adaption complete)

Version: 2016/07/28b NO

52 /96

N = . & & 8 & & 4 A A A A o A



Kischall® Compact attract | (SIDERESTS)
(Siderest with desk function)

U W
B[ =

10

s

N

_a A
- O © O NO O P~ WOWDN

1540043

1540044
1540040
1540039
1540042
1540041
1540031
1521532
1521533
1540032
SP1604973

(Siderest with desk function, flip-back, height adj., removable, pair short,
complete)

ARMLEN DESK OPPFELLBAR HREG KPL MED FESTE PAR

(Siderest with desk function, flip-back, height adj., removable, short, left)
(Siderest with desk function, flip-back, height adj., removable, short, right)
(Siderest with desk function, flip-back, height adj., removable, long left)
(Siderest with desk function, flip-back, height adj., removable, long, right)
(Hook bracket for siderest, pair)

(Armpad short incl. Srews, pair)

(Armpad long incl. Screws, pair)

(Siderest with desk function fixation kit)

(Fixation kit front for siderest)

N

NN = o4 &4 v a4 A

53 /96

Version: 2016/07/28b NO



Kischall® Compact attract | (SIDERESTS)
(Tubular armrest)

T PP PP e PO PO OOO O

@
/_
\'}"“@ /'/‘
7 % -
L
1 SP1606428 (Pair of armrests with standard pads, bent) 1
2 SP1606429 (Armrest with standard pad, bent, right) 1
3 SP1606430 (Armrest with standard pad, bent, left) 1
4 SP1606431 (Armrest right) 1
5 SP1606432 (Armrest left) 1
6 SP1589276 (Standard pad) 2
7 SP1606433 (Screws kit for tubular armrest, pair) 1
8 SP1604985 (Clamping piece to adaption) 2
9 SP1606434 (Armrest holder, pair) 1
10 SP1606435 (Fixation kit for clamping piece to adaption, pair) 1

Version: 2016/07/28b NO

54 /96



Kuschall® Compact attract | (FRONT WHEELS)

(FRONT WHEELS)

(Front wheel supporter)
(Front wheels)

55/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (FRONT WHEELS)
(Front wheel supporter)

NOoO b WN -

o]

10
11

SP1603779-0004
SP1603780-0004
SP1603781-0004
1510219
SP1603786
1532034
1532035-0004

1532037
1563141
SP1603787-0004
SP1603788-0004

(Front fork S, black anodized)

(Front fork M, black anodized)

(Front fork L, black anodized)

KULELAGER KIT

(Front fork pin kit, pair)

ENDE PROPP COMPACT CHASSI M SKRUER

(Fixation parts for front fork castor high or low mounted, black anodized,
Compact, pair)

BRAKKET TIL GAFFELFESTE COMPACT KUSCHALL
(Front fork castor adjusting parts, pair)

(Front fork castor left, black anodized)

(Front fork castor right, black anodized)

Version: 2016/07/28b NO

56 / 96

A A A a NN

= A A A



Kuschall® Compact attract | (FRONT WHEELS)

Black wheels

Light | Comfort
1 2
3

Wheel Position No.

1-2-3-5

4

(Front wheels)

0 NOoO OO WN -

1562627
1542640
1562628
1513189
1513192
1570108
1570109
1570105

SVINGHJUL 5 EVERYDAY 3 EIKER SORT
SVINGHJUL 5 SORT 4 CM KUSCHALL COMFORT
SVINGHJUL 6 EVERYDAY 3 EIKER SORT GUMMI
SVINGHJUL 6"LUFTFYLT KUSCHALL
SVINGHJUL 7 SPORT KUSCHALL

AKSELSETT SVINGHJUL U DISTANSESKIVER
AKSELSETT 6" LUFT KUSCHALL

KULELAGER PAR KUSCHALL 6000-2RS

N NDNDNDDNDDNMNDDNDDN

57 /96

Version: 2016/07/28b NO



Kuschall® Compact attract | (REAR WHEELS)

(REAR WHEELS)

(Active wheel)

(24" Kuschall rear wheels complete)
(High Performance wheel)
(Spinergy LXK wheel)

(Drumbrake wheel)

(Handrim)

(Tyre)

(Spoke guard)

(Quick release axle and bearing)

© 00 NO O WON =

Version: 2016/07/28b NO 58 /96

[ AL U UL G UL UL U G



Kuschall® Compact attract | (REAR WHEELS)

(Active wheel)

1
2
3

1583058
1583059
1571073

(Rear wheel 24" active)
(Handrim 24" Alu incl. Fixation kit for rear wheel 24" Economy)
(Spokereflection, pair)

59 /96

Version: 2016/07/28b NO



Kuschall® Compact attract | (REAR WHEELS)
(24" Kuschall rear wheels complete)

3 X
| | Ro.e | !
B o1 o2 3

‘o \& SRS 7
\ .notyre. |
B - 4 s

1 1567104-0407
2 SP1601745

3 1554399-0407
4 SP1601747

5 1554400-0407
6 1571073

7 1579086

DRIVHJUL 24 STAREC U/DRIVR U/DEKK U/FARGE
(Rear wheel 24", Starec hub X, without handrim, Rightrun black/grey tyre)

(Rear wheel 24", Starec X, colourless, without handrim, marathon
evolution)

(Rear wheel 24", Starec hub X, handrim, Rightrun black/grey tyre)
(Rear wheel 24", Starec X, colourless, handrim, marathon evolution)
(Spokereflection, pair)

(Spokes 253mm complete, kit 10 Pcs.)

Version: 2016/07/28b NO

60 /96

NN



Kuschall® Compact attract | (REAR WHEELS)
(High Performance wheel)

a b ODN

SP1601754-0004

1527046-0004
1517723-0004
1571073
1578867

(Rear wheel 24" High Performance black anodized, handrim, Rightrun
black/ grey)

DRIVHJUL 24 HGY PERMANCE SORT DRIV ALU DEKK ME
DRIVHJUL 24 HGY PERMANCE SVART UTEN DEKK OG DRIVR
(Spokereflection, pair)

(Spokes kit for High Performance wheel 24", 10 Pcs.)

61/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (REAR WHEELS)

(Spinergy LXK wheel)

| 24" v v x 1
v x | v |2
_—6

[ 24"
/—;lnsuie 4

‘?Outs;lde 5

1585007
1585008
1579102
1579103
1579104
1571088

o g ON -

(Rear wheel 24", Spinergy LXK, handrim alu, tyre Schwalbe One)
(Rear wheel 24", Spinergy LXK, handrim alu, tyre Marathon Evolution)
DRIVHJUL 24 Spinergy LXK UTEN DEKK OG DRIVRING

(Spoke inside for Spinergy LXK wheel 24", 236mm., 1 Pcs.)

(Spoke outside for Spinergy LXK wheel 24", 249mm., 1 Pcs.)

(Spoke reflection for Spinergy wheel, pair)

Version: 2016/07/28b NO

62 /96

= ©O© © M DNDN



Kuschall® Compact attract | (REAR WHEELS)
(Drumbrake wheel)

|
[ | o
‘ 1 ‘ LR

1 SP1604974 (Rear wheel 24" Drumbrake, handrim, Rightrun black/grey) 2
2 SP1604975 (Rear wheel 24" Drumbrake, without handrim, without tyre) 2
3 1571073 (Spokereflection, pair) 1

D 63/96 Version: 2016/07/28b NO



Kuschall® Compact attract | (REAR WHEELS)

(Handrim)
83“ N (? % J
|

) I dam| 24 “w | 24" 24"

ﬂ 3cm 1 2 3 4 5

Kiischall wheel j 4em - - - -

ﬁ) 3em 1 2 3 5

High 4

Performance 4cm = = - -

W 3am 1 2 3 4 5

Spinergy LXK 4cm = = - =

%‘} m |1 2 3 4 5

Drumbrake 4em - i - -

Fix
{ ‘\) Q
II ’Kv)Q

Fix - (Fixation handrim) 2
1 1568714-0005 DRIVRING 24 ALU ELOKSERT KUSCHALL st.SPINERGY 2
2 1568716 (Handrim 24" Titanium, distance 3cm) 2
3 1568715 DRIVRING 24 STAL 3CM DIST 2
4 1568703 DRIVRING 24 SUPERGRIP KUSCHALL 2
5 1556916 DRIVRING 24 SURGE KUSCHALL 2

Version: 2016/07/28b NO

64 /96



Kuschall® Compact attract | (REAR WHEELS)
(Fixation handrim)

Bﬁ Auminium | Titanium | Steel | Supergrip | Surge
3am r
- BOBOROEOEO
ﬂj 3an |11 (1(1(1]1|1|1|3|3
Kilschall wheel 4am - - - -1213 w
ﬁjm4444444464
Performance 4am =|=|=|=]=-|=-]/5|6|~]-
M am | 4 4 4 4 6
Spmerng)(K \ 4an N [ a7 5 - [l -
§@‘%%1'111111133
Drumbrake 4am - - == - - 2 3 - -

o g ON -

1495958
1495959
1495961
1496019
1496020
1497111

FESTESETT DRIVRING 3CM KUSHALL
DRIVRINGSFESTE KIT STD KUSCGHALL HJUL 4CM
(Fixation kit handrim, 4 cm with spokes guard)
FIKSERINGSKIT FOR DRIVRING HIGH PERFORM 3
(Fixation kit handrim for High Performance wheel, 4 cm)

(Fixation kit handrim for High Performance wheel, 4 cm with spokes
guard)

N NMNNDNDNDDN

65/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (REAR WHEELS)

(Tyre)
b{
24" 24" 24" 2"
%ﬁ%\ 1| 2| 3| 4
Active wheels
' IENERERE
. Kiischall wheel |
High ) 1 2 3 -
Performance
i IENEAERE
| Spmergy LXK |
&) . s
Drumbrake
"i‘ i
\\ \‘“ Acc.

Acc. - (Inner tube and rim protector) 2
1 SP1590118 DEKK 24 Rightrun SORT/GRA KUSCHALL 2
2 1570838 DEKK 24 MARATHON KUSHALL PKT SIKKER 2
3 1578802 DEKK 24 SCWALBE SPEEDRUN 24" KUSCHALL 2
4 1570831 DEKK 24 MASSIV GRA GROVT M@NSTER 2

Version: 2016/07/28b NO

66 / 96



Kuschall® Compact attract | (REAR WHEELS)
(Inner tube and rim protector)

SN
&
24" 24" 24" 24"
al 1 1 1 -
Active mﬁ Bl 2 2 2 2
' ﬁ\ [a] 1 1 1 -
Kiischall wheels } B 2 2 2 2
' [a] 1 1 1
’é%ﬁ} el 3 |3 | 3 -
ﬁﬂ al 1 1 1 -
Spinergy LXK } B 3 3 3 -
' %} (a] 1 1 1 -
Drumbrake ) B 2 2 2 2
L Inner Tube (A} ——— Rim protector (B)

A WN

1570849
1570845
1495962
1571072

SLANGE 24"X1

(Rim protection 24" Large)

FELG BAND HIGH PERFORMANCE DEKK KUSCHAL
(Rear wheel inset anti-flat for 20,22,24,26" tyre)

= N NN

67 /96

Version: 2016/07/28b NO



Kuschall® Compact attract | (REAR WHEELS)

(Spoke guard)

24"

Active wheels iﬁ\ i
Kiischall whees%S 1
High ﬁ} 1
Performance

Spinergy LXK )

)| 1

2

1 1564457 EIKEBESKYTTER 24 TRANSPERENT KUSCHALL

Version: 2016/07/28b NO 68 /96



Kuschall® Compact attract | (REAR WHEELS)
(Quick release axle and bearing)

wd |V ga
N -
Active wheels
e 1E 5
Kiischall wheels
High ﬁ) 1 5
Perfon'nance
o | ;
Spinergy LXK
%% 4 ;
Drumbrake
1 1509137-0004 HURTIGKOBLINGSBOLT L 128 M SORT KNAPP KUSCHAL PAR 1
2 1509137-0407 HURTIGKOBLINGSBOLT L 128 FARGELJS KNAPP KUSCH.PAR 1
3 1507627 QR AKSEL FOR SPINERGY HJUL PAR 1
4 SP1606165-0407 (Quick release axles for drumbrake with cap, pair, colourless) 08.03.2016 — 1
5 1571069 (Bearing R8-2RS 1/2"/1.1/8"x5/16", pair) 2

69 /96 Version: 2016/07/28b NO



Kuschall® Compact attract | (BRAKES)

(BRAKES)

1 - (Brakes)
2 - (Drum brake)

Version: 2016/07/28b NO 70/ 96



Kuschall® Compact attract | (BRAKES)

&l

=

s

&

(Brakes)

0 NO OO~ WN -

1512129
1512130
SP1604007
SP1604008
SP1604009
SP1604010
1513177
1513176

BREMS DRA FOR A LASE VE STD ULCPAKID FRA 150208
BREMS DRA FOR A LASE H@ STD ULCPAKID FRA 150208
(Attract Pull brake left)

(Attract Pull brake right)

(Attract Push brake left)

(Attract Push brake right)

HANDTAK BREMS PAR KUSCHALL

KLEMME BREMS KPL K-SERIE CHAMP 110708

N = — & & A

71/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (BRAKES)

(Drum brake)
e
1 \

1 SP1604976 (Drumbrake set, pair) 1
2 1507734 KJOREHANDTAK SVART PLAST PAR KUSCHALL 1
3 SP1604978 (Drumbrake handle, pair) 1
4 1527108 KGREHANDTAKS FORLENGER ASSMAN BREMS KUSCHALL 1
5 SP1604979 (Fixation kit for Vertical brace with drumbrake, pair) 1
6 SP1604977 (Drumbrake cable with hose, pair) 1

Version: 2016/07/28b NO

72 /96



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(OPTIONS & ACCESSORIES)

N N

@,%3

%

NOoO b WN -

(Tipper aid)
(Antitipper)

(Cane holder)
(Therapy table)
(Seat belt)

(Chair accessories)
(Fixation: screws, ...)

R (AL (U U QUL G

73 /96

Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Tipper aid)

SP1604987
SP1604988
SP1604984
SP1604985
SP1604986

a H» ON -

(Tipper-Aid with holder)

(Tipper-Aid)

(Holder for adaption)

(Clamping piece to adaption)

(Fixation kit for clamping piece to adaption)

Version: 2016/07/28b NO

74 /96

= A A A a



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Antitipper)

NOoO b WN -

SP1604989
SP1604990
SP1604991
SP1604992
SP1604985
SP1604986
SP1604993

SP1604994

(Antitipper, left)

(Antitipper, right)

(Antitipper 7°, left)

(Antitipper 7°, right)

(Clamping piece to adaption)

(Fixation kit for clamping piece to adaption)

(Clamping piece to adaption with spacer)
Needed in combination with siderest with desk function

(Fixation kit for clamping piece to adaption with spacer)
Needed in combination with siderest with desk function

JEEE G (I (U U QUL G

75/96

Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Cane holder)

1
1
3~ [
L.

< /“//ifdir

e [

e -~ '

/'/// |—2 !

== i

|

SP1604982
SP1604983
SP1604984
SP1604985
SP1604986

a H» ON -

(cane holder with holder)

(cane holder)

(Holder for adaption)

(Clamping piece to adaption)

(Fixation kit for clamping piece to adaption)

Version: 2016/07/28b NO

76 /96

= A A A a



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Therapy table)

SB36-44
SB46-50

sB36-44 | 5
SB46-50 | H

0 NO OO WN -

1439492
1438374
1439493
1438375
1582670
1582671
1582672
1582673

BORD MEDIUM KUSCHALL CO SB36-44 KORT POLSTER
BORD TERAPI M KPL SB 36-44 LANG POLSTER

BORD TERAPI L KPL FOR ARMLEN KORT

BORD TERAPI L KPL TIL SB 46-50 LANG POLSTER
(Therapy table M)

(Therapy table L)

(Fixation kit for therapy table on armrest short)

(Fixation kit for therapy table on armrest long)

[ G\ P G UL (AL U G

77196

Version: 2016/07/28b NO



Kuschall® Compact attract | (OPTIONS & ACCESSORIES)
(Seat belt)

1 SP1604980 (Seat belt)
2 SP1604981 (Seat belt mounted with drumbrake wheel)

Version: 2016/07/28b NO 78196



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Chair accessories)

1 1518285 VERKTQYSETT KUSCHALL 1
2 1517924 PUMPE KUSCHALL MANUELL 1
3 1518286 (Air man) 1
4 1518287 VESKE FOR 24 OG 26 HJUL KUSCHALL LOGO 1
5 SP1601738 (Kischall watch mounted on front fork castor, kit) 1
79/96 Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)
(Fixation: screws, ...)

1 < o [2]
» s » O
& & &

S
D W
P O
‘> <
@ D @‘\ w @

Ag e %%%%j
K\xﬁ 2B

Qf@@fb
ADS

- (Socket head cap screws)

- (Countersunk screws)

- (Button head screws)
(Hex-head screws, diverse, ...)
- (Washers)

- (Nuts)

- (Pins, rivets, ...)

NOoO b WN -
1

R (AL (U U QUL G

Version: 2016/07/28b NO 80 /96



Kischall® Compact attract | (OPTIONS & ACCESSORIES)
(Socket head cap screws)

L ' e M L M
di|L|b|k dy|L |k dy|L|blk
NEI 1 4|20(4|19 5 |a5|22| 5 | 34
35 2 g| |20 L 35
BERE 2| [21 s | |36
S [©2| 4 <8 22
55 5 2| |23 L
wo2s| | 6 5| |24
359 7 35 25
40 8 10 |26 el 37
45 9 0| |27 e B
50 10 | |28 i
Ll | Ll Be 5| |39
655|256 |11 6|30/6|29 S_EW S 'y 9)
l6s| 12 35| |30 o ““\ﬁ\“ \\\\\\\\‘i"
70 13 w0 |31 Q) Q)
90| 14 60| |32 ’-*b—--‘i dy[ L]k dy| L[«
140 15 8|20|8 33 [:mm = 5(10]11,5 54 &il' 58
8 [6s|28|8 | 16 E( 6| |55 0| |59
10"}z 10] 17| "“ k= 6 |t6jts 56 |
90 18 [ P— 0| |57
1 1579115 (Hex socket head cap screws partially threaded, zi.Blue, M4x30, kit 25 1
Pcs.)
Replaces 1560191 (25x)
2 1579116 (Hex socket head cap screws partially threaded, zi.Blue, M4x35, kit 25 1
Pcs.)
Replaces 1563765 (25x)
3 1579117 (Hex socket head cap screws partially threaded, black, M5x30, kit 25 Pcs.) 1
Replaces 100.1091 (25x)
4 1579118 (Hex socket head cap screws partially threaded, black, M5x40, kit 25 Pcs.) 1
Replaces 100.1093 (25x)
5 1579119 (Hex socket head cap screws partially threaded, black, M5x55, kit 25 Pcs.) 1
Replaces 100.1096 (25x)
6 1579120 (Hex socket head cap screws partially threaded, black, M5x100, kit 10 1
Pcs.)
Replaces 1425240 (10x)
7 1579121 (Hex socket head cap screws partially threaded, black, M6x35, kit 5 Pcs.) 1
Replaces 107.1001 (5x)
8 1579122 (Hex socket head cap screws partially threaded, black, M6x40, kit 25 Pcs.) 1
Replaces 100.1133 (25x)
9 1579123 (Hex socket head cap screws partially threaded, black, M6x45, kit 25 Pcs.) 1
Replaces 100.1134 (25x)
10 1579124 (Hex socket head cap screws partially threaded, black, M6x50, kit 25 Pcs.) 1
Replaces 100.1135 (25x)
11 1579125 (Hex socket head cap screws partially threaded, black, M6x55, kit 25 Pcs.) 1
Replaces 100.1136 (25x)
11 1579126 (Hex socket head cap screws partially threaded, zi.Blue, M6x55, kit 25 1
Pcs.)
Replaces ZM006551A (25x)
12 1579127 (Hex socket head cap screws partially threaded, black, M6x65, kit 10 Pcs.) 1
Replaces 100.1138 (10x)
13 1579128 (Hex socket head cap screws partially threaded, black, M6x70, kit 10 Pcs.) 1
Replaces 100.1139 (10x)
14 1579129 (Hex socket head cap screws partially threaded, black, M6x90, kit 10 Pcs.) 1
Replaces 1529118 (10x)
15 1579130 (Hex socket head cap screws partially threaded, black, M6x140, kit 10 1

Pcs.)
Replaces 1529117 (10x)

81/96

Version: 2016/07/28b NO



Kuschall® Compact attract | (OPTIONS & ACCESSORIES)
(Socket head cap screws)

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

1579131

1579132

1579133

1579134

1579135

1579136

1579137

1579138

1579139

1579140

1579141

1579142

1579143

1579144

1579145

1579146

1579147

1579148

1579149

1579150

1579151

1579152

1579153

1579154

1579155

1579156

1579157

1579158

(Hex socket head cap screws partially threaded, black, M8x65, kit 10 Pcs.)
Replaces 1510316 (10x)

(Hex socket head cap screws partially threaded, black, M10x45, kit 2 Pcs.)
Replaces 1496010 (2x)

(Hex socket head cap screws partially threaded, black, M10x90, kit 2 Pcs.)
Replaces 1496013 (2x)

(Hex socket head cap screws fully threaded, black, M4x20, kit 25 Pcs.)
Replaces 100.1050 (25x)

(Hex socket head cap screws fully threaded, black, M5x8, kit 5 Pcs.)
Replaces 1493753 (5x)

(Hex socket head cap screws fully threaded, black, M5x12, kit 25 Pcs.)
Replaces 100.1084 (25x)

(Hex socket head cap screws fully threaded, black, M5x18, kit 25 Pcs.)
Replaces 100.1087 (25x)

(Hex socket head cap screws fully threaded, black, M5x22, kit 25 Pcs.)
Replaces 100.1089 (25x)

(Hex socket head cap screws fully threaded, black, M5x25, kit 25 Pcs.)
Replaces 100.1090 (25x)

(Hex socket head cap screws fully threaded, black, M5x35, kit 25 Pcs.)
Replaces 100.1092 (25x)

(Hex socket head cap screws fully threaded, black, M6x10, kit 25 Pcs.)
Replaces 100.1123 (25x)

(Hex socket head cap screws fully threaded, black, M6x20, kit 25 Pcs.)
Replaces 100.1128 (25x)

(Hex socket head cap screws fully threaded, black, M6x25, kit 25 Pcs.)
Replaces 100.1130 (25x)

(Hex socket head cap screws fully threaded, black, M6x30, kit 25 Pcs.)
Replaces 100.1131 (25x)

(Hex socket head cap screws fully threaded, black, M6x35, kit 25 Pcs.)
Replaces 100.1132 (25x)

(Hex socket head cap screws fully threaded, black, M6x40, kit 10 Pcs.)
Replaces 1563349 (10x)

(Hex socket head cap screws fully threaded, black, M6x60, kit 10 Pcs.)
Replaces 100.1137 (10x)

(Hex socket head cap screws fully threaded, black, M8x20, kit 10 Pcs.)
Replaces 1510307 (10x)

(Hex sock.Head cap screws partial.Thread., black, TufLok, M5x45, kit 5
Pcs.)
Replaces 1496014 (5x)

(Hex sock.Head cap screws partial.Thread., black, TufLok, M10x60, kit 2
Pcs.)
Replaces 1496011 (2x)

(Hex sock.Head cap screws partial.Thread., black, TufLok, M10x75, kit 2
Pcs.)
Replaces 1496012 (2x)

(Hex socket head cap screws fully threaded, black, TufLok, M5x18, kit 10
Pcs.)
Replaces 1425241 (10x)

(Hex socket head cap screws fully threaded, black, TufLok, M5x25, kit 10
Pcs.)
Replaces 1570153 (10x)

(Hex socket head cap screws full. Thread., zi.Blue, TufLok, M6x16, kit 10
Pcs.)
Replaces 1560219 (10x)

(Hex socket head cap screws fully threaded, black, TufLok, M6x20, kit 10
Pcs.)
Replaces 1498775 (10x)

(Hex sock.Head cap screws, low head, part.Thread., black, M5x20, kit 25
Pcs.)
Replaces 1438501 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M5x25, kit 25
Pcs.)
Replaces 1438518 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M5x30, kit 25
Pcs.)
Replaces 100.5090 (25x)

Version: 2016/07/28b NO

82 /96



Kuschall® Compact attract | (OPTIONS & ACCESSORIES)
(Socket head cap screws)

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

1579159

1579160

1579161

1579162

1579163

1579164

1579165

1579166

1579167

1579168

1579169

1579170

1579171

1579172

1579173

1579174

(Hex sock.Head cap screws, low head, part.Thread., black, M5x35, kit 25
Pcs.)
Replaces 100.5091 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x25, kit 25
Pcs.)
Replaces 1432120 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x30, kit 25
Pcs.)
Replaces 100.5130 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x35, kit 25
Pcs.)
Replaces 1438504 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x40, kit 25
Pcs.)
Replaces 100.5132 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x50, kit 25
Pcs.)
Replaces 100.5134 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M5x14, kit 25
Pcs.)
Replaces 100.5085 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x18, kit 25
Pcs.)
Replaces 100.5126 (25x)

(Hex sock.Head cap screws, low head, part.Thread., black, M6x20, kit 25
Pcs.)
Replaces 100.5127 (25x)

(Hex soc.Head cap scr., low head, part.Threa., bl., TufL., M5x10, kit 10
Pcs.)
Replaces 1496026 (10x)

(Hex socket head cap screws, special low head, black, M5x10, kit 25 Pcs.)
Replaces 1437290 (25x)

(Hex socket head cap screws, special low head, black, M6x6, kit 25 Pcs.)
Replaces 1425182 (25x)

(Hex socket head cap screws, special low head, black, M6x16, kit 25 Pcs.)
Replaces 1541181 (25x)

(Hex socket head cap screws, special low head, black, M6x20, kit 25 Pcs.)
Replaces 107.1022 (25x)

(Hex socket head cap screws, spec.Low head, black, TufLok, M5x6, kit
10 Pcs.)
Replaces 1532039 (10x)

(Hex socket head cap screws, spec.Low head, black, TufLok, M6x10, kit
10 Pcs.)
Replaces 1420946 (10x)

83 /96

Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)
(Countersunk screws)

W »
T | e e
b W R
dy|L|b|k dy|L |k dy|L |k dy|L dy|L |k dy| L
s [4s]16[2,8) 1 6| |4 e |17 630.25| 331?27| 4|12 28|
LI 2 w |5 0| |18 1
sl ] 3 12 6 s |19 + r
4] | 7 0] |20 =
6| | 8 | |6|40)3321 | L ‘ &
18 9 50 22 di|L
5 |20|2,8 10 55 23 il 26|
2 1 60| |24 h
sl (12
s (13
o (14 ;] L
so| |15 20065 29 |
ss| |16 M 30
3831
_"“Ik “"— ‘-— b —h—‘ ‘
= —!
- L = * i-— L —--‘ *
1 1579175 (Countersunk head screws partially threaded, Black, M5x45, kit 10 Pcs.)
Replaces 1438773 (10x)
2 1579176 (Countersunk head screws partially threaded, Black, M6x35, kit 10 Pcs.)
Replaces 107.1004 (10x)
3 1579177 (Countersunk head screws partially threaded, Black, M6x45, kit 10 Pcs.)
Replaces 100.3133 (10x)
4 1579178 (Countersunk head screws fully threaded, Black, M5x6, kit 25 Pcs.)
Replaces 1445273 (25x)
5 1579179 (Countersunk head screws fully threaded, Black, M5x10, kit 25 Pcs.)
Replaces 100.3082 (25x)
6 1579180 (Countersunk head screws fully threaded, Black, M5x12, kit 25 Pcs.)
Replaces 1438999 (25x)
7 1579181 (Countersunk head screws fully threaded, Black, M5x14, kit 25 Pcs.)
Replaces 107.1015 (25x)
8 1579182 (Countersunk head screws fully threaded, Black, M5x16, kit 25 Pcs.)
Replaces 100.3085 (25x)
9 1579183 (Countersunk head screws fully threaded, Black, M5x18, kit 25 Pcs.)
Replaces 100.3086 (25x)
10 1579184 (Countersunk head screws fully threaded, Black, M5x20, kit 25 Pcs.)
Replaces 100.3087 (25x)
11 1579185 (Countersunk head screws fully threaded, Black, M5x22, kit 25 Pcs.)
Replaces 1416930 (25x)
12 1579186 (Countersunk head screws fully threaded, Black, M5x25, kit 25 Pcs.)
Replaces 100.3089 (25x)
13 1579187 (Countersunk head screws fully threaded, Black, M5x35, kit 25 Pcs.)
Replaces 100.3091 (25x)
14 1579188 (Countersunk head screws fully threaded, Black, M5x40, kit 25 Pcs.)
Replaces 1432148 (25x)
15 1579189 (Countersunk head screws fully threaded, Black, M5x50, kit 25 Pcs.)
Replaces 100.3094 (25x)
16 1579190 (Countersunk head screws fully threaded, Black, M5x55, kit 25 Pcs.)
Replaces 100.3095 (25x)
17 1579191 (Countersunk head screws fully threaded, Black, M6x16, kit 25 Pcs.)
Replaces 100.3125 (25x)
18 1579192 (Countersunk head screws full. Threaded, zinc flake coat., M6x20, kit 25

Pcs.)
Replaces 100.3127 (25x)

Version: 2016/07/28b NO

84 /96



Kuschall® Compact attract | (OPTIONS & ACCESSORIES)
(Countersunk screws)

18

19

20

21

22

23

24

25

26

27

28

29

30

31

1579193

1579194

1579195

1579196

1579197

1579198

1579199

1579200

1579201

1579202

1579203

1579204

1579205

1579206

(Countersunk head screws fully threaded, Black, M6x20, kit 25 Pcs.)
Replaces 1437809 (25x)

(Countersunk head screws fully threaded, Black, M6x25, kit 25 Pcs.)
Replaces 100.3129 (25x)

(Countersunk head screws fully threaded, Black, M6x30, kit 25 Pcs.)
Replaces 100.3130 (25x)

(Countersunk head screws fully threaded, Black, M6x40, kit 25 Pcs.)
Replaces 100.3132 (25x)

(Countersunk head screws fully threaded, Black, M6x50, kit 25 Pcs.)
Replaces 100.3134 (25x)

(Countersunk head screws fully threaded, Black, M6x55, kit 25 Pcs.)
Replaces 100.3135 (25x)

(Countersunk head screws fully threaded, Black, M6x60, kit 25 Pcs.)
Replaces 100.3136 (25x)

(Countersunk head screws fully threaded, Black, TufLok, M6x30, kit 25
Pcs.)
Replaces 1550479 (25x)

(Countersunk head screws fully threaded, zi.Blue, M3x8, kit 25 Pcs.)
Replaces 1529279 (25x)

(Countersunk head PT screws, Torx, stainless steel, 3x8, kit 25 Pcs.)
Replaces 1529278 (25x)

(Countersunk head PT screws, Black, KA40x12, kit 25 Pcs.)
Replaces 1438513 (25x)

(Countersunk head tapping screws with cone end, Black, ST2,9x6,5, kit
25 Pcs.)
Replaces 126.5041 (25x)

(Countersunk head tapping screws with cone end, Black, ST4,8x16, kit
25 Pcs.)
Replaces 126.5202 (25x)

(Countersunk head tapping screws with cone end, Black, ST4,8x38, kit
25 Pcs.)
Replaces 126.5207 (25x)

85/96

Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)
(Button head screws)

R el e

—

6 |as|2s[33 1 | s [10] +
5£2,a 11 W
& 16 W
W 612133 13 o AR
3|10 2 14|

dilL [k o
16 2 |k|--_ _*_
L | sepa3] || (Mmm=| |*=
= SEZ'?i © W
T 40 4 |-—L—-—|*
2f |5 | il fa]
34 [ 6| + 5203,5|14|
6 —3,3
ouealiN-
s | 8 K -

5116(3,1

6125|3,3

g

| L—--|

10

11

12

13

14

1579259

1579260

1579261

1579262

1579263

1579264

1579265

1579266

1579267

1579268

1579269

1579270

1579271

1579272

(Hex sock.Button head cap screws partially thread., Black, M6x45, kit 25
Pcs.)
Replaces 1438507 (25x)

(Hex socket button head cap screws fully threaded, Black, M5x16, kit 25
Pcs.)
Replaces 1445341-0003 (25x)

(Hex socket button head cap screws fully threaded, Black, M5x25, kit 25
Pcs.)
Replaces 107.1021 (25x)

(Hex socket button head cap screws fully threaded, Black, M5x40, kit 25
Pcs.)
Replaces 1445101-0003 (25x)

(Hex socket button head cap screws fully threaded, Black, M6x20, kit 25
Pcs.)
Replaces 1439153 (25x)

(Hex socket button head cap screws fully threaded, Black, M6x34, kit 25
Pcs.)
Replaces 1438506-0003 (25x)

(Hex socket button head cap screws fully threaded, Black, M6x40, kit 25
Pcs.)
Replaces 1439530-0003 (25x)

(Hex socket button head cap screws fully threaded, Black, M6x50, kit 25
Pcs.)
Replaces 1439531-0003 (25x)

(Hex sock.But.Head cap screws full. Thread., Black, TufLok, M6x25, kit 25
Pcs.)
Replaces 1438505 (25x)

(Button head socket cap screws with flange, Black, M5x8, kit 25 Pcs.)
Replaces 1536268 (25x)

(Button head socket cap screws with flange, Black, M5x12, kit 25 Pcs.)
Replaces 1529290 (25x)

(Button head socket cap screws with flange, Black, M5x16, kit 25 Pcs.)
Replaces 1445102-0003 (25x)

(Button head socket cap screws with flange, Black, M6x12, kit 25 Pcs.)
Replaces 1432204 (25x)

(Round washer head PT® screws, form H, zinc plated blue, M5x16, kit 25
Pcs.)
Replaces 1536057 (25x)

Version: 2016/07/28b NO

86 /96




Kuschall® Compact attract | (OPTIONS & ACCESSORIES)
(Button head screws)

15 1579273 (Pan head PT screws, form H, zinc plated blue, M3x10, kit 25 Pcs.) 1
Replaces ZM003510A (25x)

16 1579274 (Pan head PT screws, Torx, Black, M5x20, kit 25 Pcs.) 1
Replaces 1424569 (25x)

17 1579275 (Slotted machine screws, Black, M5x10, kit 25 Pcs.) 1

Replaces 102.2083 (25x)

D 87/96 Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)
(Hex-head screws, diverse, ...)

& | & P
dy[L bk dy| Lk S AN
150, | 1] 6|25/4| 6 | e ,\\\ 3316
6(s0|184| 2 4|12| 17
d | [ 3] ; - s|s|18
55 4 W S e 9 5119
022053 20175
80 5 5 10| 6 [18] 20
dy| L[k | m 11 35/ 21
6l12|a| 7 6|5 |45—~=
35|95 ! 12
+!k|_-_ ‘—-—b—-—‘ E E .
| B s | [14
Ejmmi; BEMTES

24

25

dy|L |k | T dyfL L ]
510338| —~— L —— 5426‘
1 1579276 (Hex head bolts partially threaded, Black, M6x50, kit 10 Pcs.)
Replaces 101.1134 (10x)
2 1579277 (Hex head bolts partially threaded, Black, M6x80, kit 10 Pcs.)
Replaces 1438508 (10x)
3 1579278 (Hex head bolts partially threaded, Black, M6x120, kit 10 Pcs.)
Replaces 1438509 (10x)
4 1579279 (Hex head bolts partially threaded, Black, M8x55, kit 10 Pcs.)
Replaces 101.1174 (10x)
5 1579280 (Hex head bolts partially threaded, Black, M8x80, kit 10 Pcs.)
Replaces 101.1179 (10x)
6 1579281 (Hex head screws fully threaded, Black, M6x25, kit 10 Pcs.)
Replaces 1437299 (10x)
7 1579282 (Hex head screws fully threaded, Black, TufLok, M6x12, kit 10 Pcs.)
Replaces 1564245 (10x)
8 1579283 (Hex flange head machine screws with flangeBlack, M5x10, kit 10 Pcs.)
Replaces 107.1014 (10x)
9 1579295 (Hex socket head shoulder bolts, Black, @6x20 / M5, kit 4 Pcs.)
Replaces 1488934-0003 (4x)
10 1579296 (Hex socket head shoulder bolts, Black, @6x12 / M5, kit 4 Pcs.)
Replaces 1564246 (4x)
11 1579297 (Hex socket head shoulder bolts, Black, @6x16 / M5, kit 4 Pcs.)
Replaces 1529291 (4x)
12 1579298 (Hex socket head shoulder bolts, Black, @6x35 / M5, kit 4 Pcs.)
Replaces 1496034 (4x)
13 1579299 (Hex socket head shoulder bolts, Black, @6x40 / M5, kit 4 Pcs.)
Replaces 107.1023 (4x)
14 1579300 (Hex socket head shoulder bolts, Black, @6x45 / M5, kit 4 Pcs.)
Replaces 1496030 (4x)
15 1579301 (Hex socket head shoulder bolts, Black, @8x25 / M6, kit 4 Pcs.)
Replaces ZM008252A (4x)
16 1579284 (Hex socket set screws with flat point, Black, M3x3, kit 25 Pcs.)
Replaces 116.1001 (25x)
17 1579285 (Hex socket set screws with flat point, Black, M4x12, kit 25 Pcs.)
Replaces 116.1046 (25x)
18 1579286 (Hex socket set screws with flat point, zinc plated blue, M5x5, kit 25 Pcs.)

Replaces 116.1081 (25x)

Version: 2016/07/28b NO

88 /96



Kuschall® Compact attract | (OPTIONS & ACCESSORIES)

(Hex-head screws, diverse, ...)

19

20

21

22

23

24

25

26

1579287

1579288

1579289

1579290

1579291

1579292

1579293

1579294

(Hex socket set screws with flat point, Black, M6x5, kit 25 Pcs.) 1
Replaces 1437272 (25x)

(Hex socket set screws with flat point, zinc plated blue, M6x18, kit 25 Pcs.) 1
Replaces 1559106 (25x)

(Hex socket set screws with flat point, Black, M6x35, kit 25 Pcs.) 1
Replaces 116.1133 (25x)

(Hex socket set screws with flat point, Black, TufLok, M4x4, kit 10 Pcs.) 1
Replaces 1493792 (10x)

(Hex socket set screws with flat point, Z.Plat.Bl., TufLok, M6x12, kit 1
10Pcs.)

Replaces 1439057 (10x)

(Hex socket set screws with cone point, Black, M6x5, kit 25 Pcs.) 1

Replaces 116.2121 (25x)

(Hex socket set screws with cone point, Black, M6x8, kit 25 Pcs.) 1

Replaces 116.2123 (25x)

(Screws with cup point, Torx, zinc plated blue, M6x4, kit 25 Pcs.) 1

Replaces 1567763 (25x)

89 /96

Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Washers)
dy |dy | s dy [d3 | s dy [dy | h j— _* dy [da | h
safw|1|1 s2 (302 |11 1 g |lealra]os 23|| | & 5|53 130
64|12 (08| 2 53|20 [15(12 Y - *__4_{ 64|11 11|31
65|12 15| 3 62|30 2|13 o _+‘ h 8415|1732
84|16 (16| 4 64|20 15|14 L’Jh @ 105/ 18| 2 |33
dy [da | h
- @ 64 [102] 0,7 24|
vy 9 o2 s oy
P |:|—€ o Ta; ] s 812|215 N L @
“Tlls3|w| |5 82| 12 2 16 NG
E—-J-—J 64 (125 16| 6 6 |17 9119z | b DL—-—’ 549 |12 34|
oal 16 1sl 7 x| s |18 64 14| 2 |25 s
o5l 20218 85| 25| 4 |19 * 65 [11,9( 16 [ 26
10142120 —[_*
2. 2|21 = | = j_
Q_.._L_..J G N _i
@ Q dy [d; [ n © —'T d
dy [dq | s 43| 7 | 1|27 5,3
257 o8| 9 dy [dy | s 84|13 |14|28 r—-lh|__ 6.4
37| 11 08|10 52|38 | 1 22| 17 | 24 [ 21|29

1 1579225
2 1579226
3 1579227
4 1579228
5 1579229
6 1579230
7 1579231
8 1579232
9 1579233
10 1579234
11 1579235
12 1579236
13 1579237
14 1579238
15 1579239
16 1579240
17 1579241
18 1581292

(Flat washers without chamfer, black, 5,3x10x1, kit 50 Pcs.)
Replaces 150.1004 (50x)

(Flat washers without chamfer, black, 6,4x12x0,8, kit 50 Pcs.)
Replaces 150.2001 (50x)

(Flat washers without chamfer, zinc plated blue, 6,5x12x1,5, kit 50 Pcs.)
Replaces 5729091 (50x)

(Flat washers without chamfer, black, 8,4x16x1,6, kit 50 Pcs.)
Replaces 150.1012 (50x)

(Flat washers without chamfer, polyamide, 5,3x10x1, kit 50 Pcs.)
Replaces 150.3003 (50x)

(Flat washers without chamfer, polyamide, 6,4x12,5x1,6, kit 50 Pcs.)
Replaces 150.3004 (50x)

(Flat washers without chamfer, polyamide, 8,4x16x1,6, kit 50 Pcs.)
Replaces 150.3005 (50x)

(Flat washers without chamfer, polyamide, 10,5x20x2, kit 50 Pcs.)
Replaces 150.3006 (50x)

(Flat washers without chamfer, zinc plated blue, 2,5x7x0,8, kit 50 Pcs.)
Replaces 150.2012 (50x)

(Flat washers without chamfer, zinc plated blue, 3,7x11x0,8, kit 50 Pcs.)
Replaces ZM203501A (50x)

(Flat washers without chamfer, black, 5,2x30x2, kit 20 Pcs.)
Replaces 150.2006 (20x)

(Flat washers without chamfer, black, 5,3x20x1,5, kit 50 Pcs.)
Replaces 150.2010 (50x)

(Flat washers without chamfer, black, 6,2x30x2, kit 20 Pcs.)
Replaces 150.2009 (20x)

(Flat washers without chamfer, black, 6,4x25x1,5, kit 50 Pcs.)
Replaces 1451753 (50x)

(Hinge rings, black, 8x12x2, kit 50 Pcs.)
Replaces 150.5002 (50x)

(Distance sleeve, alu, 8,2x12x4,5, kit 20 Pcs.)
Replaces 1420970 (20x)

(Distance sleeve, alu, 8,2x12x8, kit 20 Pcs.)
Replaces 1420969 (20x)

(Distance sleeve, alu, 8,2x25x8, kit 2 Pcs.)
Replaces 151.1002 (2x)

Version: 2016/07/28b NO

90 /96



Kuschall® Compact attract | (OPTIONS & ACCESSORIES)

(Washers)

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

1583052

1579242

1579243

1579244

1579245

1579246

1579247

1579248

1579249

1579250

1579251

1579252

1579253

1579254

1579255

1579256

1579257

1579258

(Distance sleeve, alu, black, 8,5x25x4, kit 10 Pcs.)
Replaces 151.1014 (10x)

(Hinge rings, zinc plated blue, 10x14x2, kit 50 Pcs.)
Replaces 1506666 (50x)

(Hinge rings, black, 12x16x2, kit 50 Pcs.)
Replaces 150.5006 (50x)

(Rubber washers, 5,2x38x1, kit 20 Pcs.)
Replaces 1424891 (20x)

(Disc springs, black, 6,2x12x0,9, kit 50 Pcs.)
Replaces 160.1015 (50x)

(Conical spring washers, zinc plated blue, 6,4x10,2x0,7, kit 50 Pcs.)
Replaces 161.1004 (50x)

(Conical spring washers, black, 6,4x14x2, kit 50 Pcs.)
Replaces 161.2004 (50x)

(Conical spring washers, zinc plated blue, 6,5x11,9x1,6, kit 50 Pcs.)
Replaces ZM206001A (50x)

(Ribbed lock washers, black, 4,3x7x1, kit 50 Pcs.)
Replaces 155.2002 (50x)

(Ribbed lock washers, zinc plated blue, 8,4x13x1,4, kit 50 Pcs.)
Replaces 155.2005 (50x)

(Ribbed lock washers, zinc plated blue, 17x24x2,1, kit 50 Pcs.)
Replaces 155.2009 (50x)

(Curved spring washers, black, 5,3x10x1, kit 50 Pcs.)
Replaces 1438515 (50x)

(Curved spring washers, black, 6,4x11x1,1, kit 50 Pcs.)
Replaces 1438516 (50x)

(Curved spring washers, zinc plated blue, 8,4x15x1,7, kit 50 Pcs.)
Replaces ZM208003A (50x)

(Curved spring washers, zinc plated blue, 10,5x18x2, kit 50 Pcs.)
Replaces ZM201581A (50x)

(Split spring lock washers, black, 5,4x9x1,2, kit 50 Pcs.)
Replaces 155.1003 (50x)

SKIVE FORSENKET 90G M5° 3x16x2,8 50 stk
Replaces 150.6003 (50x)

SKIVE FORSENKET 90G M6° 4x18x3,3 50 stk
Replaces 150.6004 (50x)

91/96

Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Nuts)
> N
Q D 0%
dy |n dy |h dy | dy | d3 | L | s
me 3] 1 [ ma a9 4 Ms | 7 | 11| 12 | 1 15|
ms|s| 5
@ M 6| 6 . -
M 8| 7 r""”"_ < Ui
dg |h miz|12| 8 m_":Di—
M8 |54 2 | - T_l
!
1 i—g
‘—-Ih|-l— 4—i--| h |—-—
© 9 ® $
I dp | 93 | 93 L
dy |h dy |h di | h M | 9 | 12 | 17 16[
Me 9| 3 l ms 63 9 me 53|13
8

i
N

8

- ‘

10 miz| 7 |14

N i
= =
Tk 1N

'm
L

10

1"

12

13

1579207

1579208

1579209

1579210

1579211

1579212

1579213

1579214

1579215

1579216

1579217

1579218

1579219

1579220

1579221

(Hex jam nuts, black, M6, kit 25 Pcs.)
Replaces 108.3004 (25x)

(Hexagon nuts , black, M8, kit 25 Pcs.)
Replaces 1420997 (25x)

(Hex cap nuts, low type, black, M6, kit 25 Pcs.)
Replaces 109.5009 (25x)

(Prev.Torque lock nuts, thin type, with polyam.Insert, black, M4, kit 25
Pcs.)
Replaces 109.1002 (25x)

(Prev.Torque lock nuts, thin type, with polyam.Insert, black, M5, kit 25
Pcs.)
Replaces 109.1003 (25x)

(Prev.Torque lock nuts, thin type, with polya.lnsert, zi.Bl., M5, kit 25 Pcs.)
Replaces 109.5008 (25x)

(Prev.Torque lock nuts, thin type, with polyam.Insert, black, M6, kit 25
Pcs.)
Replaces 109.1004 (25x)

(Prev.Torque lock nuts, thin type, with polya.lnsert, zi.Bl., M6, kit 25 Pcs.)
Replaces ZM106001A (25x)

(Prev.Torque lock nuts, thin type, with polyam.Insert, black, M8, kit 25
Pcs.)
Replaces 109.1005 (25x)

(Prev.Torque lock nuts, thin type, with polya.Insert, black, M12, kit 4 Pcs.)
Replaces 109.1007 (4x)

(Preva.Torg.Hex lock nuts, high type with poly.Insert, black, M5, kit 25
Pcs.)
Replaces 1493771 (25x)

(Preva.Torg.Hex lock nuts, high type with poly.Insert, black, M6, kit 25
Pcs.)
Replaces 109.5001 (25x)

(Prevail.Torque hex domed cap nuts with polyam.Insert, black, M5, kit 25
Pcs.)
Replaces 109.5006 (25x)

(Prevail.Torque hex domed cap nuts with polyam.Insert, black, M6, kit 25
Pcs.)
Replaces 109.5003 (25x)

(Prevailing torque hex lock nuts, all-metal, thin typeblack, M8, kit 10 Pcs.)
Replaces 109.5005 (10x)

Version: 2016/07/28b NO

92 /96




Kuschall® Compact attract | (OPTIONS & ACCESSORIES)

(Nuts)
14 1579222 (Prevailing torque hex lock nuts, all-metal, thin typeblack, M12, kit 4 Pcs.) 1
Replaces 109.5004 (4x)
15 1579223 (Blind rivet nuts, flat head, open type, black, M5, kit 10 Pcs.) 1
Replaces 180.4007 (10x)
16 1579224 (Blind rivet nut with low countersunk head, open type, black, M6, kit 10 1
Pcs.)

Replaces 180.4105 (10x)

D 93/96 Version: 2016/07/28b NO



Kischall® Compact attract | (OPTIONS & ACCESSORIES)

(Pins, rivets, ...)

dyfL dyfL difL difL
4 1 12 5 4 |20 7 | 2|24 8
Tl 2 ‘14l 6 2,5014| 9
2| 3 3|10/ 10
‘sl 4

|4 20

[da] « LC]:’:» 3
85|12 r dy| s

4122 13 _'""‘ L l"_ 30,1/1,2 15|
17,5 14

1 1579302
2 1579303
3 1579304
4 1579305
5 1579306
6 1579307
7 1579308
8 1579309
9 1579310
10 1579311
11 1579312
12 1579313
13 1579314
14 1579315
15 1579316

(Parallel pins, @3x4 m6, kit 10 Pcs.)
Replaces 1439336 (10x)

(Parallel pins, @3x10 m6, kit 10 Pcs.)
Replaces 1439337 (10x)

(Parallel pins, @4x12 m6, kit 20 Pcs.)
Replaces 200.1124 (20x)

(Parallel pins, @4x28 m6, kit 20 Pcs.)
Replaces 1437344 (20x)

(Parallel pins, @4x12 h8, kit 20 Pcs.)
Replaces 1487663 (20x)

(Parallel pins, @4x14 h8, kit 20 Pcs.)
Replaces 1487662 (20x)

(Grooved pins, center grooved, @4x20, kit 20 Pcs.)
Replaces 1517718 (20x)

(Slotted spring pins, heavy duty, Black, @2x24, kit 20 Pcs.)
Replaces 200.4011 (20x)

(Slotted spring pins, heavy duty, Black, @2,5x14, kit 20 Pcs.)
Replaces 200.4007 (20x)

(Slotted spring pins, heavy duty, stainless steel, @3x10, kit 20 Pcs.)
Replaces 1567997 (20x)

(Spiral spring pins, Black, @4x20, kit 20 Pcs.)
Replaces 200.3167 (20x)

(Dome head blind rivets, @4x8,5, kit 20 Pcs.)
Replaces 1439292 (20x)

(Dome head blind rivets, @4x12,2, kit 20 Pcs.)
Replaces 180.5116 (20x)

(Dome head blind rivets, @4x17,5, kit 20 Pcs.)
Replaces 180.5019 (20x)

(Retaining rings for bores, Std.Design, Z.plat.Blue, &30,1X1,2, kit 20

Pcs.)
Replaces ZM50J281A (20x)

Version: 2016/07/28b NO

94 /96






Yes, you can’

Belgium & Luxemburg:

Invacare nv, Autobaan 22, B-8210 Loppem

Tel: (32) (0)50 83 10 10, Fax: (32) (0)5083 10 1]
belgium@invacare.com / www.invacare.be

Denmark:

Invacare A/S, Sdr. Ringvej 37, DK-2605 Brandby

Tel: (45) (0)36 90 00 00, Fax: (45) (0)36 90 00 01
denmark@invacare.com / www.invacare.dk

Deutschland:

Invacare Aquatec GmbH, AlemannenstraBe 10, D-88316 Isny
Tel: (49) (0)75 62 7 00 O, Fax: (49) (0)75 62 7 00 66
info@invacare-aquatec.com / www.invacare-aquatec.de

European Distributor Organisation:
Invacare, KleiststraBe 49, D-32457 Porta Westfalica
Tel: (49) (0)57 31 754 540, Fax: (49) (0)57 31 754 541

edo@invacare.com / www.invacare.eu.com

Esparia:

Invacare SA, c/Areny sin, Poligon Industrial de Celra, E-17460 Celra (Girona)
Tel: (34) (0)972 49 32 00, Fax: (34) (0)972 49 32 20
contactsp@invacare.com / www.invacare.es

France:

Invacare Poirier SAS, Route de St Roch, F-37230 Fondettes
Tel: (33) (0)2 47 62 64 66, Fax: (33) (0)2 47 42 12 24
contactfr@invacare.com / www.invacare.fr

Ireland:

Invacare Ireland Ltd, Unit 5 Seatown Business Campus, Seatown Road, Swords, County Dublin - Ireland
Tel: (353) | 810 7084, Fax: (353) | 810 7085

ireland@invacare.com / www.invacare.ie

Italia:

Invacare Mecc San s.rl, Via dei Pini 62, 1-36016 Thiene (Vi)
Tel: (39) 0445 38 00 59, Fax: (39) 0445 38 00 34
italia@invacare.com / www.invacare.it

Nederland:
Invacare BV, Celsiusstraat 46, NL-67 |6 BZ Ede
Tel: (31) (0)318 695 757, Fax: (31) (0)318 695 758

nederland@invacare.com, csede@invacare.com / www.invacare.nl

Norge:

Invacare AS, Grensesvingen 9, Postboks 6230, Etterstad, N-0603 Oslo
Tel: (47) (0)22 57 95 00, Fax: (47) (0)22 57 95 01
norway@invacare.com, island@invacare.com / www.invacare.no

Osterreich:

Invacare Austria GmbH, Herzog Odilostrasse 101, A-5310 Mondsee
Tel: (43) 6232 5535 0, Fax: (43) 6232 5535 4
info-austria@invacare.com / www. invacare.at

Portugal:

Invacare Lda, Rua Estrada Velha, 949, P-4465-784 Lega do Balio
Tel: (351) (0)225 1059 46/47, Fax: (351) (0)225 1057 39
portugal@invacare.com / www.invacare.pt

Sverige & Suomi:

Invacare AB, Fagerstagatan 9, S-163 91 Spdnga

Tel: (46) (0)8 761 70 90, Fax: (46) (0)8 761 81 08
sweden@invacare.com, finland@invacare.com / www.invacare.se

Switzerland:

Invacare AG, Benkenstrasse 260, CH-4 108 Witterswil
Tel: (41) (0)61 487 70 80, Fax: (41) (0)61 487 70 81
switzerland@invacare.com / www.invacare.ch

United Kingdom:

Invacare Limited, Pencoed Technology Park, Pencoed, Bridgend CF35 5AQ
Switchboard Tel: (44) (0)1656 776200, Fax: (44) (0)1656 776201
Customer services Tel: (44) (0) 1656 776222, Fax: (44) (0)1656 776220
uk@invacare.com / www.invacare.co.uk

© Invacare® International Sarl 2016. All Rights Reserved.



